C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

C BR Modern Sr.Sec.School Bahala Star Maths 3rd Class Solution

1. Revision

1. (a) 770= Seven hundred seventy
(b) 115= One hundred fifteen
(¢) 214 =Two hundred fourteen
(d) 357 = Three hundred fifty-seven

2. (a) 257 (b) 344 (c) 458 (d) 526
3. (a) 649 (b) 774 (c) 401 (d) 208
4, (a) 223 — 200+20+3 (b) 469 —  400+60+9
(0 359 —  300+50+9 (d) 508 —  500+8
(e) 405 —  400+5 f) 669 — 600+60+9
5. (a) 850 (b) 269 (c) 362 (d) 407
6. (a) 100+20+5=125 (b) 200+ 00+ 3 =203
() 300+ 0+9=309 (d) 500+ 30+ 0= 530
(e) 600+ 40+ 8=648 ® 200+ 60+ 5= 265
7. (a) 10 (b) 100 (©) 99 (d) 999
8. (a) 880 > 808 () 265 < 562
(0 385 = 385 (d) 446 < 464
(e) 565 = 565 () 897 < 987
9. (a) 312, 321, 591, 595, 618 (b) 202, 499, 512, 543, 546
(¢) 119, 120, 280, 309, 390 (d) 206, 267, 277, 527, 572
10. (a) 647, 645, 558, 548, 540 (b) 681, 516, 309, 300, 212
(c) 861,816, 618, 515, 514 (d) 598, 596, 529, 520, 250
11. Face Value Place Value
(@ 5 500
(b) 4 400
(© 2 200
(@ 9 900
12. (a) 128,821, 21 (b) 781, 187, 871 (c) 525, 552, 255
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13.

14.

15.

16.

17.

18.

19.

(a)
(b)
(©
(a)
(b)

(©
(d)

(a)

(a)

(a)

(a)

(e)

(a)

Smallest Number

501
278
244

Smallest Number

165
357
235
709
175
268
443

437
+ 121
558

GO
679
— 483
196

X 5
240

(b)

(b)

(b)

(b)

®

(b)

65
288
3563

@D
396
+ 178
574

AOZ

— 144
158

591
— 190
401

@B
257
— 163
094

X 4
276

Greatest Number

551
872
442

Greatest Number

651
735
533
987

(©

©

(©

(©

(©

48
+144
192

©)

490
+ 980

1470

246
— 104
142

)
AB8
- 185
253

212
X 4
848

(d) 189
+10
199

)

(d) 809
+ 416
1225

(d) 616
— 405
211

@ 95

— 465
464

@®
(d) 145
X 5
725
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@ ©] @
20. (a) 86 (b) 28 (© 99 (d) 78
X 92 X 4 X 9 X 9
172 112 891 702
© ©)] @ @
2L (@ 12 b 16 (© 14 d 13
X 5 X 6 X 5 X 9
60 96 70 117
22. @ 3)27(9 (® 5) 45(9 (¢ 95 81 ( 9 (d) 35 12 ( 4
27 45 81 12
_0 _0 _0 _0
Q=9,R=0 Q=9,R=0 Q=9,R=0 Q=4,R=0
@ 17)56(8 ¢ 6)36(6
56 36
0 0
Q=8R=0 Q=6,R=0
23. (@ 9)36(4 () 856 (7 (© 5)45(9 () 9) 63 (7
36 56 45 63
o 0 0 0
Q =4 Q =7 Q =9 =17
24. Weight of one wheat bag = 61 kg 61kg 000g
Weight of other wheat bag = 50 kg 243 g + 50 kg 243 ¢
Total weight of wheat =111kg 243 g 111 kg 243 g
(@)
25. A man bought sweets = 8kg 500g
He distributed sweets — 4 kg 250 g
Sweets left with him = 4 kg 250 g
26. Ambika made laddoos = 48 GW 3
She made 6 laddoos in 1 minute 48
She take time to make all laddoos = 48 + 6 = 8 laddoos 0
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27. Milkman sells milk in the morning and evening
=45+ 64 =109 litres
Milkman sell milk in one day = 109 litres
He sell milk in a week =109 x 7= 763 litres

28. Nishant have base ball cards = %%0
Rajiv have base ball cards = 568
Akash have base ball cards = + 192

1000

Total cards = 1000

2. Four-Digit Numbers

Exercise 2.1

1. See in the answer sheet

Exercise 2.2

1. and 2. Seein the answer sheet

3. (1) 1008 — 1009, 1010, 1011, 1012
(b) 3097 — 3098, 3099, 3100, 3101
(c) 4996 — 4997, 4998, 4999, 5000
(d) 6667 — 6668, 6669, 6670, 6671

4, (a) 5430 — 5429, 5428, 5427, 5426
(b) 4200 — 4199, 4198, 4197, 4196
(¢) 3000 — 2999, 2998, 2997, 2996
(d) 9701 — 9700, 9699, 9698, 9697

Exercise 2.3

1. (a) Value of 3 at ones place = 3 ones = 3
Value of 4 at tens place = 4 tens = 4
Value of 8 at hundreds place
= 8 hundreds = 800
Value of 2 at thousands place
= 2 thousands = 2000

—_40]

—_800]
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Similarly,

M) [1]7]4]2]
—> 2 ones
—> 4 tens
———> 7 hundreds
——— > 1 thousands

© [7]9]8]5]

—> b5 ones

——> 8 tens

——— 9 hundreds

——— > 7 thousands |7000

2. @ |6[8]2]9] ® |[5]7][1]8]
—[_9] —{_8]
—_20] —_10]
—{_800] ——[_700]
—— (6000 — (5000
© [7]0]8]6]
—[_¢
—_ 80|
—_0
——— (7000}

3. (a) 4730 = 4000+ 700+ 30
(b) 5305= 5000+ 300+ 5
(c) 3006 = 23000+ 6
(d) 5089= 5000+ 80+ 9
4. (a) 6000+ 200+ 30+ 7= 6237
(b) 5000+ 50 + 8= 5058
(c) 8000 + 800+ 70 = 8870

(d) 7000+ 6="7006
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Exercise 2.4

1. (a

(b)

(©

(d)

(e)

Both the numbers are of four digit numbers, so we compare
their digits.

Th|H|T|O Th|H|T|O
6

8|5 3 817|112

} }

Same Same
_>57<_

So, 8563 8712
1168 has four digits while 983 has only three digits.

We know that the number four digits in always greater than
the number with three digits.

So, 1168 [>] 983

Both the numbers are of four digits, so we compare their digits.

Th|H|T|O Th|H|[T|O
312167 71418]5

So, 3267 7485

Both the numbers are of four digit numbers, so we compare
their digits.

Th|H|[T|O Th|H|T|O
18|18 8

So, 1818 8118

Both the numbers are of four digits numbers, so we compare
their digits.

Th

—
=
oo

Th

N L
©<+——o|m
N L Y
|0
Alnon
B
©©<«——©o|m
A (3
0+« |O

So, 4941 4948
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(®)

2. (a)

Both the numbers are of four digit numbers, so we compare
their digits.

Th|H|T|O Th|H|T|O
71032 68|52

7 [>] 6«
So, 7032 6852

All the numbers have four digits, so we compare them by
arranging them in columns.

Th|H|T|O Th|H|T|O
210|613 3121212
3121212 3|10(0]|2
3/oflo]2 l L

Same 2>0

So, 2063 is the smallest So, 3222 is the greatest

number. number.

(b) All the numbers have four digits, so we compare them by

©

arranging them in columns.

Th|H|T|O
613[9]0
5105 ]|1
213198

L» 6 >5>

So, 6390 is the greatest number and 2398 is the smallest
number.

All the numbers have four digits, so we compare them by
arranging them in columns.

Th{H|T|O

710101

612|113

414|715

L» 7>6>4

So, 7001 is the greatest number and 4475 is the smallest

number.
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(d) All the numbers have four digits, so we compare them by

arranging them in columns.

Th|H|T|O
4197
71419

41719
|—> 4>17
So, 7490 is the greatest

number.

7
0
2

Exercise 2.5

1. (a
©
()
(©

(a)

298 < 3285 < 3469 < 4061
999 < 9099 < 9909 < 9990
7649 > 7549 > 7496 > 7459
1321>1312>1213>1123
698 699 700

(c) 1287 1288 1289

(a)
(b)
©
(d)

Predecessor = 889 — 1 = 888

Predecessor = 2341 — 1 = 2340
Predecessor = 7038 — 1 = 7037
Predecessor = 9000 — 1 = 8999

Exercise 2.6

1. (2

(b)

Th T]O

H
419|717

417192

c

Same
So, 4792 is the smallest

number.

(b)
(d)
(b)
(d)
(b)
(d)

1189<1289<1892< 1982
6143 <6314 <6341 < 6431
8291 > 8192 > 8129 > 8091
5619 > 5032 > 4807 > 4523
4039 4040 4041

8500 8501 8502
Successor = 889+ 1= 890
Successor = 2341 + 1= 2342
Successor = 7038 + 1= 7039
Successor = 9000 + 1= 9001

For largest number we arrange the digits in descending order

= 8521

For smallest number we arrange the digits in ascending order

= 1258

For largest number we arrange the digits in descending order

= 9740

For smallest number we arrange the digits in ascending order

but we can not place zero at thousands place so smallest

number = 4079
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(¢

2. (a)

(b)

©

(b)
(©
4. (a)
(b)
(0
(d)
5. (a)
(b)

(©

(d)

For largest number we arrange the digits in descending order
= 8320

For smallest number we arrange the digits in ascending order
but we can not place zero at thousands place so smallest
number = 2038

Smallest digits is 0, so we repeat 0 twice

So, largest possible number = 6200

Smallest possible number = 2006

Smallest digit is 1, so we repeat 1 twice

So, largest possible number = 9611

Smallest possible number = 1169

Smallest digit is 0, so we repeat 0 twice

So, largest possible number = 9800

Smallest possible number = 8009

7605, 6705, 7065, 6075, 7560, 5760, 6570 and more
3956, 3659, 3596, 9356, 6359, 5369 and more
4871, 1874, 1847, 4817, 7841, 7814 and more

94 is rounded off nearest to 10 is 90 since the digit at the
ones place is 4 which is less than 5.

89 is rounded off nearest to 10 is 90 since the digit at the
ones place is 9 which is more than 5.

126 is rounded off nearest to 10 is 130 since the digit at the
ones place is 6 which is more than 5.

425 is rounded off nearest to 10 is 430 since the digit at the
ones place is 5 which is equal to 5.

753 is rounded off nearest to 100 is 800 because the digit at
the tens place is 5 which is equal to 5.

385 is rounded off nearest to 100 is 400 because the digit at
the tens place is 8 which is more than 5.

1245 is rounded off nearest to 100 is 1200 because the digit
at the tens place is 4 which is less than 5.

2964 is rounded off nearest to 100 is 3000 because the digit
at the tens place is 6 which is more than 5.
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6. (a) 5600 isrounded off nearest to 1000 is 6000 because the digit
at the tens place is 6 which is more than 5.

(b) 4389 is rounded off nearest to 1000 is 4000 because the digit
at the hundreds place is 3 which is less than 5.

(c) 6320 1is rounded off nearest to 1000 is 6000 because the digit
at the hundreds place is 3 which is less than 5.

(d) 7654 1is rounded off nearest to 1000 is 8000 because the digit
at the hundreds place is 6 which is more than 5.

Check Yourself
1. and 2. As per answer sheet.
3. (a) 5 more than 2086 (1) 8869 [8879-—10]
(b) 1 less than 4000 (i1) 8785 [8685 + 100]
(c) 10 less than 8879 (111) 2091 [2086 + 5]
(d) 100 more than 8685 @iv) 3999 [4000 — 1]
4. (a) (iv) Thousands ThlHI T O
®l4|2]|7
(b) (i) 500 ’T@W
L,
B
[
——(2000
(c) (iii) 9999
(d) (viii) 8088 —— 8000 + 80 + 8= 8088
(e) (@) 5503 —— 5000+ 5000+ 0+ 3= 5503
3. Roman Numerals
1. 2=1+1=0I 3=1+1+1=1III
6=5+1=VI 4=5-1=1V
8=5+1+1+1=VIII 10=X
9=10-1=1X 12=10+ 2=XII
14=10+4=XIV 15=10+5=XV
17=10+ 5+ 2=XVII 18=10+ 5+ 3= XVIII
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(d)
(e)

21=10+10+1=XXI 24=10+10+(5-1)=XXIV
28=10+10+ 5+ 3= XXVIII 29=10+10+ 9= XXIX
31=10+10+10+1=XXXI 30=10+10+10= XXX
33=10+10+ 10+ 3= XXXIIT
34=10+10+10+(5—1)= XXXIV
38=10+10+ 10+ 5+ 3= XXXVIII
39=10+10+ 10+ 9= XXXIX
2. Il=1+1=2 IV=(5-1)=4
VII=5+1+1=7 X=10
XV=10+5=15 IX=10-1=9
XIIIT=10+3=13 XVI=10+5+1=16
XX=10+10=20 XIX=10+9=19
XXI=10+10+1=21 XXXI=10+10+10+1=31
XXIX=10+10+9=29 XXIV=10+10+4=24
XXXV=10+10+10+5=35 XXXII=10+10+10+ 2= 32
XXX =10+10+10= 30 XXXIV=10+10+10+(5-1)= 34
XXXIII=10+10+10+ 3= 33
XXVIII=10+10+5+3=28
XXXVIIT=10+10+10+ 5+ 3= 38
3. (b) IXVII Dbecause the combination includes I on both side of XV
which is not possible.
(¢ VV because V, L and D can not be repeated in the single
combination.
(e) VX because V can not be at left side of X.
(g XIIV  because II can not be in middle of X and V.
(h) XIIII  because I can not be repeated four times in the single
combination.
4., (a) 9=10-1=IX
(b) 4=5-1=1V
() 6=5+1=VI

19=10+10-1=XIX
34=10+10+ 10+ (5 - 1) = XXXIV

S
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5. (a) XIX=10+(10-1)=19, which is greater than 10.

So, 10 XIX

(b) XX =10+ 10= 20, which is greater than 10.
So, XX 10

(¢c) XV =10+ 5=15, which is equal to 15.
So, XV [=] 15

(d) XVII=10+5+1+1=17 which is greater than 16.
So, 16 XVII

(e) II=1+1=2, whichisequaltol+1=2
So,1+1 [=] I

() XVI=10+ 5+ 1=16, which is greater than 10 + 4.
So,10+ 4 [<] XVI

6. () 3+10=13=XIII ®) 5+2=17=VII
€ 10-2=8=VIII d) 10+ 5=15=XV
() 6+ 7+7=20=XX ) 24-2-4=18=XVIII

7. (@) XI+XI=11+11=22=XXII
(b) VI+IV=6+4=10=X
(¢c) VII+XVIII=7+18=25=XXV
(d XI-V=11-5=6=VI
(e) XXX =10+10+10=30=XXX
8. (a) IV=4VIII=8 V=5VI=6VII=7
So ascending order of 4, 8, 5, 6 and 7 is
4,5,6,7,8
Now changing numbers to roman numerals again
IV, V, VI, VII, VIII
(b) XI=11,XV =15 XVI=16 XIV =14, XX =20
So, ascending order of 11, 15, 16, 14, 20 is
11, 14, 15, 16, 20
Now changing numbers to roman numerals again
XI, XIV, XV, XVI, XX
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9. @ NI=2VI=61I1=3 VI=4, VI[=7
So, descending order of 2, 6, 3, 4, 7 is
7,6,4,3,2
Now changing numbers to roman numerals again
VII, VI, 1V, III, II
(b) IX=9 XI=11,X=10,XIV=14, XV =15
So, descending order of 9, 11, 10, 14, 15
15, 14, 11, 10, 9
Now changing numbers to roman numerals again
XV, XIV, XI, X, IX
10. (a) The hour hand is at 4 and minute hand is at 12.
So, time is 4 : 00.
(b) The hour hand is at 11 and minute hand is at 12.
So, time 1s 11 : 00.

(¢) The hour hand is in between 4 and 5 and the minute hand is
at 3.

So, time is 4 : 15.

(d) The hour hand is in between 8 and 9 and the minute hand is
at 10.

So, time 1s 9 : 50.

11. @ ¥ ®» IV CIN'AVAN' SN

Check Yourself
1. (@ VI=5+1=6 (b) X=10-1=9
(© XV=10+5 =15 (d) XXXIV=30 + 4 = 34
2. As per answer sheet
3. (a) XXXI=10+10+10+1 (b) XLVI=(50-10)+5+1
=31 =40+ 6= 46
So, (1i1) So, (iv)
() XXXV=10+10+10+5=35 (d) L=50
So, (i) So, (ii)



C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

4. (a) (iv), only XXV make sense among all the options.
(b) (iii), 25+ 13 = 38 = XXXVIII
() (i), XIX-IX=19-9=10=X
(d) @i), XV+VI=15+6=21=XXI

4. Addition
Exercise 4.1
1. (a) First add the ones 5+4=9 T O
Then add the tens 2+1=3 2 5
+1 4
3 9
Similarly,
(b) T O (© T O (d) T O
2 3 9 1 8 2
+4 2 + 7 +1 7
6 5 9 8 9 9

2. (a) 1. Add the ones 9+ 1=10ones =1 ten + 0 ones. HTO

We have regrouped the ones into ten and 4 @ 9
ones. +92 2 1
2. Add the tens 4 + 2+ 1 (carried over) = 7 3 7 0

Add the hundreds 1 + 2 = 3 hundreds.

Add the ones 2+ 9=11ones =1 ten + 1 ones.

—

(b)

We have regrouped the ones into tens and ones.

2. Add the tens 6 + 3 + 1 (carried over) 10 = 1 hundred + O tens

HTO
O O
q

+

=l o N

1 3
9 0
[We have regrouped the tens into hundred and tens.]

3. Add the hundreds 7+ 1+ 1 (carried over) = 9 hundreds.
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Similarly,
(c) H T O (d) HTO
)
5 5 3 &
+2 5 b 3 1
8 0 8 +1 3 O
5 4

3. (a) Arrange the digits of the given numbers in
columns of hundreds, tens and ones. Then add
column wise.

1. Add the ones 9+ 8+ 9=26ones=2ten+6 +
ones. Write 6 under ‘O’ and carry over 2 to 7
the tens place.

2. Add the tens 1+ 4+ 8+ 2 (carried over) =15 =1 hundred
+ 5 tens.

(CRNC !
oo B O
ol w w O

Write 5 under tens and carry over 1 to the hundreds place.
3. Add the hundreds 4 + 2 + 1 (carried over) = 7
Write 7 under the hundreds.

(b) 1. Add the ones 5+ 6+ 2=13 ones =1 ten + 3 HTO
ones. 6 % 5
Write 3 under ‘O’ and carry over 1 to the 2 1 6
tens place. +1 1 2
2. Add the tens. 2+ 1+ 1+ 1 (carried over) = 5. 9 5 3
Write 5 under tens.
3. Add the hundreds 6+ 2+1=09.
Write 9 under the hundreds.
(¢) 1. Add the ones 7+ 6+ 8=21ones =2 ten +1 H T O
ones. % %) 7
Write 1 under ‘O’ and carry over 2 to the 2 0 6
tens place. +1 6 8
2. Add the tens 2+ 6 + 2 (carried over) = 10. 6 0 1

Write 0 under tens and carry over 1 to the
hundreds place.

3. Add the hundreds 2+ 2+ 1+ 1 (carried over) = 6.
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Similarly,
(d) HT O ¢ H T O ) HTO
o O o @ o O
56 4 4 1 2 6 8 0
108 2 2 7 1 4 6
+ 3 6 +1 6 5 + 2 9
7 0 8 8 0 4 8 5 5
4. (a) T O (b) HTO () HT O
@ @) o O
8 2 4 2 3 2 2 8
+ 8 3 0 8 2 0 3
9 0 +2 3 0 +1 7 0
9 6 1 6 0 1
(d) HTO (e) HTO ) HTO
@) O O o @
5 7 71 3 0 8
+ ] 8 2 5 1
B + 3 +1 6 7
7 1 6 7 2 6
Exercise 4.2
1. (8 ThHTO
6 7 3 8
+2 2 4 1
8 9 7 9

1. Add the ones 8 + 1 =9 ones. Write 9 under ‘O’.

2. Add the tens 3+ 4 =7 tens. Write 7 under T".

3. Add the hundreds 7 + 2 = 9 hundreds. Write 9 under (H).
4. Add the thousands. 6 + 2 = 8 thousands. Write 8 under ‘Th’.

Similarly,
(b) Th HT O (c) Th HT O
1 2 3 5 2 4 4 7
+8 0 2 1 +6 3 2 1
9 2 5 6 8 7 6 8
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Th HT O

(e)

Th HT O

(d)

0 3 5
2 211

1
+ 3

+2 6 1 4

4

1

8 8 9 9

Th HT O

(®)

6
2 4 0 3

1 2
9 8 8 4

+ 4

Th HT O

5
+2 2 6 0

(b)

Th HT O

2. (a)

3 3 7

3 0 56 1

+ 4

2

7

5 9 7

7

Th HT O

(d)

Th HT O

(©

4 4 0 1

3 4 0

1
+2 5 1 5

9 8 5

7

Th HT O

(b)

Th HT O

3. (a)

3 0 1 0

2 2 5 1

+ 1

4

5

+ 3

3 0 2

7 6 79

6 5 6 3

Th HT O

(d)

Th HT O

(©

2 4 3 4
+2 4 1 3

4 77
4 9 9 9

+ 1

9 9 9

7
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Exercise 4.3
1. (a) 1. Add the ones. 6+ 2= 8ones. Write 8 Th HT O
under ‘O’. %) E? 6 6
2. Add the tens. 6+ 8 =14. +3 4 8 2
Write 4 under “T" and carry 1 to the 9 2 4 8

hundreds column.
3. Add hundreds, 7+ 4 + 1 (carried over) = 12 hundreds

Write 2 under hundreds (H) and carry over 1 to thousands
column.

4. Add thousands 5+ 3+ 1 (carried over) = 9 thousands.
Write 9 under the thousands (Th).

(b) 1. Add the ones. 5+ 4 =9 ones. Write 9 Th H T O
Te Y @ @

under ‘0. 39 9 5

2. Add the tens. 2+ 8=10tens = 1 hundred 1 6 8 4

+ 0 ten. 5 6 0 9

Write 0 under “T" and carry over 1 to the
hundreds place.

3. Add the hundreds. 9+ 6+ 1 (carried over) =16 hundreds
=1 thousands + 6 hundreds.

Write 6 under ‘H and carry over 1 to the thousands
column.

4. Add the thousands 3+ 1+ 1 (carried over) = 5 thousands.
Write 5 under ‘Th’.
Thus, the sum is 5,609.

Similarly,
© Th H T O (d Th H T O
o O o O
3 4 6 4 2 6 4
+1 3 7 9 4 0 9 5
7 2 5 +3 1 2 3
11 4 8 2
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@ ThHTO @ Th HTO

6 0 % 4 2 40 1

2 6 7 5 1 6 6 8

+1 10 1 +3 4 2 1

9 8 6 0 7 49 0

2. ThHTO ® Th HTO

8% 4 Y08 2

1 89 1 6 89

+ 1 2 1 +2 2 71

8 6 8 4 6 0 2 2

@ ThHTDO @ ThHTO
© @ O O O

2 7 387 2 31 9

4 8 97 8 7 6

+2 3 2 1 + 145

9 9 5 5 3 3 40

3. (a) 5 tens 15 ones =(5tens + 1 ten) + 5 ones

= 6 tens + 5 ones = 65
(b) 19 tens 13 ones = (19 tens + 1 ten) + 3 ones
= 20 tens + 3 ones = 203
(¢) 3 hundreds 55 ones = (3 hundreds + 5 tens) + 5 ones
= 35 hundreds + 5 ones = 355
(d) 14 hundreds 6 tens 16 ones
= (14 hundreds + 6 ten + 1 ten) + 6 ones
=14 hundreds + 7 tens + 6 ones = 1476
(e) 13 hundreds 25 tens 19 ones
= (13 hundreds + 2 hundreds) + (5 tens + 1 ten) + 9 ones
=15 hundreds + 6 tens + 9 ones = 1569
() 26 hundreds 35 tens 24 ones
= (26 hundreds + 3 hundreds) + (5 tens + 2 tens) + 4 ones
=29 hundreds + 7 tens + 4 ones = 2974
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Exercise 4.4

1. (a
(b)
(©
(d)
2. (a)

(b)

2,459 +1,813=1,813 + 2,459

4,597+ 1,591 = 1,591+ 4,697

9,251 +123+111=111+ 9,251 + 123
2153+ 222+ 1,134 =1,134 + 2,153 + 222

HT

+
(NG
©0|lw©w N O

0

=00 Ot =

The sum remains the same.
We observe that 271 + 125+ 98 = 494
We observe that 125+ 271 + 98 = 494
We observe that 98 + 271 + 125 =494

o —Om
©0lw 3 e

0

5
1
8
4

Th HT O Th HT O
@ @

4 2 1 5 27

2 27 4 2 1 5

+ 1 4 3 + 1 4 3

4 5 8 5 4 5 8 5

We observe that 4215+ 227 + 143 = 4585
We observe that 227 + 4215 + 143 = 4585
We observe that 143 + 227 + 4215 = 4585

40+ 30
Step 1 :

Step 2 :

Step 3 :

o Om
Ol 3 B

Th

The sum remains the same.

Check that the addends are in the
same grouping i.e. 10s.

Al m oo O

oo o o~ o
o~ o ~OH

oot 3 w O

40 + 30 = 7(
N NN T

In 40 and 30, one zero is at the right. So, we put one
zero in the sum.

Now, add the numbers, i.e., 4 + 3= 7. So, the answer

s 70.
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(b) 30+ 20+ 30

Step 1 :

Step 2 :

Step 3 :

Check that the addends are 3+0 _T_ 2+0 i

in the same grouping i.e. 10s. "~ "~_ 7

In 30, 20 and 30, one zero is at the right. So, we put
one zero in the sum.

Now, add the numbers, ie., 3+ 2+ 3=8. So, the
answer is 80.

(¢) 100 + 300 + 500

Step 1 :

Step 2 :

Step 3 :

Check that the addends are in the same grouping,
i.e. 100s.

In 100, 300 and 500 two zeroes are at the right. So,
we put two zeroes in the sum.

Now, add the numbers ¥ ¥ ¥
ie.1+3+5=09 100 + 300 + 500 = 900
’ W\_/(

So, the answer is 900.

(d) 1,000+ 5,000 + 2,000

Step 1 :

Step 2 :

Step 3 :

Exercise 4.5

Check that the addends are in the same grouping,
i.e., 1000s.

In 1000, 5,000 and 2,000 three zeroes are at the
right. So, we put three zeroes in the sum.

Now, add the numbersie.,1+5+2=38.

Y \ \ Y
1000 + 5000 + 2
W\_/

So, the answer is 8000.

1. (a) 224, 136 and 790.
224 +136+ 790= 200+ 24+ 100+ 36+ 700 + 90

=(200+ 100+ 700) + 24 + 36 + 90
=1000+150=1150

(b) 379 and 583.
379+ 583 =300+ 79+ 500 + 83

= (300 + 500) + 79 + 83
=800 + 162 = 962
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(c) 305, 148 and 525
305+ 148 + 525 =300+ 5+ 100 + 48 + 500 + 25
=(300+ 100+ 500)+ 5+ 48 + 25

=900 + 78 =978
(d) 183 and 456

183 + 456 =100 + 83 + 400 + 56
= (100 + 400) + 83 + 56 = 500 + 139 = 639
2. (a) 267+178+ 215 (to the nearest ten)
=300 + 200 + 200 = 700
[rounding off each number to the nearest 10]
(b) 364+ 496 + 110 (to the nearest 100)

=300+ 500 + 100 = 900
[rounding off each number to the nearest 100]

@D
3. (a) 436 (b) 512 (c) 601
+ 267 + 0 + 100
703 512 701
(€6)) @ @
(d) 312 (e) 417 ® 105
196 213 200
+ 204 + 116 + 108
712 746 413
Exercise 4.6 Th HTO
1. Number of boys in a school = 2 4 6 8
Number of girls in a school = +2 321
Total number of students in a school = 47809
The total number of students in a school = 4789
ThHTO
(ONONO
2. Tickets were sold on first day = A8
Tickets were sold on second day = et
Tickets were sold on third day = gp
8 aB

Total tickets were sold on third day = 8606



C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

ThHTO
.. N Q@ @ O
3. Number of Hindi books in library = 26
Number of English books in library = B
Number of Mathematics books in library = 264

Total number of books in the library = 8207 8 i

Th HT O

4. Amount of a television = 4 % % 9 6
Amount of a washing machine= +3% 5 6 9 2
Total amount = 9 5 8 8

Total money paid by Mr. Joshi =3 9,588

ThHTO

5. Number of mango trees = % %) % 3
Number of apple trees = 3215
Number of banana trees = +2 15 4
816 2

Total number of trees in the farm house = 8162

ThHTO
6. Donation collected by primary classes = 54 %B v
Donation collected by middle classes = 3 5
Donation collected by senior classes = + 3 4 6 2 7
o0 9 355
2468
+ 7435
9903
9903 is the number which is more than 7435.
8. Motorbikes manufactured in the first year = 3%%9
Motorbikes manufactured in the second year = + 4255
Total number of motorbikes in these two years = W

7824 motorbikes were manufactured by the company in these

two years.



C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

9. In an election first candidates got votes

In an election second candidates got votes

Il
+
®| w m@?

| = © Em
Wl w o

In an election third candidates got votes

ol » © O

Total votes were polled in the election = 8530

10. Greatest 3-digit number = 999
Smallest 4-digit number =+ 1000
1999

o. The sum of the greatest 3-digit number and smallest 4-digit
number = 1999

11. Number of red roses = 235
Number of pink roses = 456
Number of white roses =189 = 235+ 456 + 189
[rounding off each number to the nearest 100]
=200+ 500 + 200 = 900
12. Number of red balls = 145
Number of blue balls = 238
Number of green balls = 295 =145+ 238 + 295
[rounding off each number to the nearest 100]
=100+ 200 + 300 = 600
13. Kartik has red marbles = 175
Kartik has blue marbles = 295
Kartik has black marbles =164=175+ 295 + 164
[rounding off each number to the nearest 10]

=180+ 300+ 160 = 640

Check Yourself
1. (a) 678+1104= 1,104 + 678
(b) 48+1,110+ 235 = 1,110 + 48+ 235
(c) 3,896+ 481 :El +3,T96
(d 2,180+ 78 + 561=2130+ 561 + 78
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2. ThHTO ®b) ThHTO
@ @) @ D
4 6 2 3 2980
+3 46 8 +5 460
8 09 1 (True) 8 4 4 0 (True)
(d)  ThHTO (e) ThHTO
@ ©)
529 &3
w0 480
9 M 8 (2
So, the sum of 5729 and So, the addends of 8,102 is
4270 is not 9,899. (False) not 6213 and 1879. (False)

(i) 8,761 [6375 + 2386 + 0]
(i) 8,998 [5000 + 3000 + 998]
(i) 6,520 [6399 + 121]
(iv) 6,835 [1635 + 4800 + 400]
(v) 8,390 [8390 + 0]

3. (a) 6,399+ 121
®) 8,390 +0
(¢) 1,635+ 4,800 + 400
@ 5,000 + 3,000 + 998
(e) 6,375+ 2,386 + 0
4. (a) 5 hundreds + 9tens + 3 ones 500

90
+ 3
593
So, the correct option is (iii).
ThHT O
(b) School library had books = %) %) % 8
More books bought in library = + 5 7 8
32176
(c) Pastries sold by Tanya = %’7
Pastries sold by Vanya = + 39
86

Total pastries sold in all = 86 pastries
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Th HT O

(d) Total strength of Ist primary school = Ci) 200

Total strength of IInd primary school = 1300

Total strength of IIIrd primary school = + 1 5 0 0
4000

4,000 pupils are there in all in the three schools

(e) Joe has amount = ?%)8
Anna has amount = +3%25
63

They have ¥ 63 together.

5. Subtraction

Exercise 5.1

1. @ T O
1 8
- 3
1 5

Step 1 : Subtract the ones 8 — 3= 5 ones. Write 5 under ‘O’.
Step 2 : Write 1 under T".

Similarly,
(b) TO (c) O
q 1 7
- 6 - 8
1 3 9
(d) T O
9 5
-2 4
7 1

Step 1 : Subtract the ones 5— 4 =1 one. Write 1 under ‘O’.
Step 2 : Subtract the tens 9— 2= 7 Tens. Write 7 under “T".
Write 5 under the tens column.
So, the difference is 71.
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(e T O
® O

A 3

-2 7

1 6

Step 1 : Subtract the ones. We cannot subtract 7 ones from
3 ones. Therefore, we regroup tens into ones.

4 tens 3 ones = 3 tens 13 ones
13— 7= 6 ones.
Write 6 under the ones column.

Step 2 : Subtract the tens 3— 2=1. Write 1 under the tens
column.

So, the difference is 16.
®

| &E S
o~ =@ 0

Step 1 : Subtract the ones. We cannot subtract 4 ones from
0 ones. Therefore, we regroup Tens into ones.

5 tens 0 ones = 4 tens 10 ones
10 — 4 = 6 ones.
Write 6 under the ones.

Step 2 : Subtract the tens 4-2=2. Write 2 under tens
column.

So, the difference is 26.

T
® G
7
1

€)) H
@)
2

<o

4/

0 5
Step 1 : Subtract the ones. We cannot subtract 8 one from 4
ones. Therefore, we regroup Tens into ones.
4 tens 4 ones = 3 tens 14 ones
14 — 8 = 6 ones.
Write 6 under the ones.
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Step 2: Subtract the tens. We cannot subtract 8 ones from 3
ones. Therefore, we regroup hundreds into tens.
2 hundreds 3 tens = 1 hundred 13 tens
13-8=5.
(h)

= &~ o
sl o 3
ot o O

Step 1 : Subtract the ones. 5 ones from 9 ones

9 - 5= 4ones. Write 4 under ones column.
Step 2 : Subtract the tens. 2 tens from 6 tens.

6 — 2= 4tens.

Step 3 : Subtract the hundreds. 3 hundreds from 4 hundreds.
4 — 3=1hundreds.

Write 1 under hundreds column.
So, the difference is 144.

2. (a) 0 (b) T O (©) HT O
9 8 ® O ® O

67/ 1 b5 4

-6 4 -2 9 - 4 9

3 4 3 8 1 0 5

(d  HTO ¢ H T O ® HT O
BT zae 99

- 2 8

2 7 5 2 0 0 54 3

3. (a) HTO (b) HT O () HT O
@ O ® ® @ @

1 3 4 3 0 8 3 & 1

- 4 8 -8 7 -3 1 8

8 6 2 2 1 0 6 3

G)) HTO (e) HT O () HTO
® 9 7 8 (ONON®)

6 2 8 8 0 0

~5 8 7 -6 5 0 ~7 4 5

0 4 1 3 2 8 0 5 5
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Exercise 5.2
1. (@ Th HT O ®) Th H T O
4 6 7T 9 7 3 8 9
-1 3 5 17 -1 0 6 9
3 3 2 2 6 3 2 0
(c) ThHTO (d) ThHTO
9 ® 4 B
S | 2- B
2 A 2 &
(e) ThHTO ®  ThHTO
6 B 4 B
- X P
2 1 a
2. (a) ThHTO (b) ThHTO
8 & 2 B
5 — 5 - A
3 2 2 &
() ThHTO (d) ThHTO
1 ® 4 B
- @ 1- &
D 3 B
(e) ThHTO ® ThHTO
3 & 5 B
- & 3- @&
1 O 2 2
Subtract Check
3. (a ThHTO Th HT O
[t 1 2 1 3 <—Difference
b— +5 1 4 3 <«— Subtrahend
521 6 3 5 6 <«—Minuend

On subtracting 5143 from 6356, we get 1213.
On adding 1213 to 5143, we get back 6356.

So, the subtraction is correct.
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Similarly, Check
(b) Th H T O Th H T O
7 2 5 7 5 1 2 1
-2 1 3 6 +2 1 3 6
5 1 2 1 7 2 5 7
Check
(©) ThHTO Th H O
6 B 5 3 6 3
[ — B +1 3 2 4
5 B 6 8 7
Check
(d) ThHTO Th H T O
6 @ 1 7 1 9
) — @ +5 0 0 O
1 T 6 7 1 9
Check
(e) ThHTO Th H T O
9 9 1 2 3 0
3— & +8 7 6 9
1 @ 9 9 9 9
Check
® ThHTO Th H T O
9 & 4 6 1 2
5 — a +5 1 1 6
4 B 9 7 2 8

4. (a) ThHTO

® O
5 4 0 9
-2 1 9 8
3 2 1 1
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Step 1: Subtract the ones. 8 ones from 9 ones.

Step 2: Subtract the tens. But there are no tens in the tens
column. So we go to the hundreds column and
borrow 1 hundred. Now, the tens column has 10
tens Leaving 3 hundreds.

Now, 10 — 9=1 tens. Write 1 under tens.

Step 3: Subtract the hundreds. 3 - 1= 2 hundreds.
Write 2 under hundreds column.

Step 4: Subtract the thousands. 5 thousands from 2
thousands. 5— 2= 3 thousands. Write 3 thousands
in thousands column.

So, the difference is 3211.
(b) Th H T O
@ ®
9 7 3 B8
-1 9 0 9
7 8 2 9

Step 1 : We cannot subtract 9 ones from 8 ones. Borrow 1
ten from 3 tens leaving 2 tens.

1 ten + 3 ones = 18 ones
Now, 18 — 9= 9 ones.

Step 2: Subtract the tens. 2 - 0= 2 tens

Step 3 : Subtract hundreds. We cannot subtract 9 hundred
from 7 hundred Borrow 1 thousand leaving 8
thousands.

1 thousand + 7 hundreds = 17 hundreds.
Now, 17— 9= 8 hundreds.
Step 4: 8 thousands — 1thousands = 7 thousands
Thus, 9738 — 1909 = 7829
Similarly,
(© ThHTO (d) Th H T O
® O O O ® @
8 "8 5 1 1 7 71 7
-3 9 9 8 -6 8 8 8
2 8 5 3 0O 8 8 9
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(e) Th H T O ® Th H T O
® B B O ® B ©® O
8 34 %9 1 1 4 9 3
-2 8 9 8 -2 9 4 7
3 5 9 9 5 4 6
5. (a) Th H T O (b) Th HT O
O W O ® ® ®
2 8 1 9 7 8 9 8
-1 8 9 9 - 9 8 7
0 9 2 0 9 0 9
(0 ThHTO (d) Th H T O
® ® ® © ® ® 6 O
3 0 9 0 8 4 9 2
-3 4 5 2 -5 9 7 6
1 5 4 8 0 5 1 6
(e) Th HT O ® Th HT O
® ® © O ® ® ® W
4 0 0 B 8 0 8 0
-2 179 -2 9 7 8
1 8 2 9 5 0 8 2
Check
6. (a) ThHTO ThHTO
5 8 2 2 <«— Difference
3 @ 3t @ <«— Subtrahend
2 P 5 8 <— Minuend

On subtraction 5869 from 3649, we get 2220.
On adding 2220 to 3649, we get back 5869.

So, the subtraction is correct.

Similarly, Check
(b) Th HT O Th HT O
ONONON®) CONO©
3 09 4 0 1 9 8
-7 8 9 6 +7 8 9 6
0 1 9 8 8 0 9 4
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Check

o XN
= o

T O

YOS
H@=
T o=

O

(©

+

11

Check

o ™
= O—
EQ=)

<
QIS

o G=
SEOS!
T @O=

g O

(d)

Check

SXC)
T O®%

<
QIS

1+

Check

2+

Exercise 5.3

O [2]w
SHER)
T[]

<
& [

(b)

o g
SNE
T e o

<
& e

(d)
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o=
SHE]
T [lm

<
=N

®

O [E]™
SIE=)
T [o]o
£ He

(b)

o [F

& [E]
TEe &
S e

(d)

o [E
SNE]

T [Ee
£ H+

®

o [EF]+
SHEI=)
T [E]e

£ [

(h)

O [E]e
SHER
T []wo

g e

(g

o o
= [E]o
T [e]~

@

o @O=
= O
T O

£ @

3. (a)

5 <— Difference

5
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First arrange the digits of the given numbers in columns of
hundreds, tens and ones. Write the bigger number first. Now,
start by subtracting the ones, then tens and finally the

hundreds.
Similarly,
(b) Th H T O (© Th H T O
U] L] 0l
7 9 8 8 6 4 8 8
-4 8 9 7 -4 8 9 7
3 0 9 1 1 5 9 1
(d) ThHTO (e) Th H T O
L] B U
5 ® 8 B
3 — @ 6 — ®
2 1 1 B
® ThHTO
9 A
5 — ]
2 &
Exercise 5.4
1. (a) Th HT O HTO
® 0O o O (ONONO
6 2 0 3 2 5 1 9-<— Difference
-3 6 8 4 +3 6 8 4<«— Subtrahend
2 5 1 9 6 2 0 3-<«— Minuend
On subtracting 3684 from 6203, we get 2519.
On adding 2519 to 3684, we get back 6203.
So, the subtraction is correct.
Similarly,
(b) Th H T O HT O
® ® O (O ONO)
6 0 0 O 2 7 b
-3 7 2 5 +3 7 2 b
2 2 7T b 6 0 0 O
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2. (a) Th H T O (b)Th@HDTO
L 2@ 1% 7 6
-1 2 2 6 — 8 7 1
0o 0 7 8 4 0 5
(¢ Th H T O (d) Th H T O
® B ©
% 5 8 & 3 6 2 5
1 8 7 4 -3 5 1 1
0 6 8 8 0 1 1 4
(e) ThHTO ® Th H T O
® 0 © ® ©@
4 3 2 2 4 8 6 2
-2 0 5 3 -1 6 5 8
2 2 6 9 3 2 0 4
Exercise 5.5
1. (a) 243 ®b) 0 () 0 (d 2,691
(e 1 ® 6840

2. (@) 60-—40=20
~_V~_ ¥

Step 1 : Check that the minuend and subtrahend are in the
same grouping, that is 10s. In 60 and 40, one zero is
at the right. So, we put one zero in the difference.

Step 2 : Now, subtract the numbers, i.e., 6—4=2,

So, the answer 1s 20.
e e I
(b) 800 — 400 = 40C
~_ T~

Step 1 : Check that the minuend and subtrahend are in the
same grouping, i.e., 100s.

Step 2 : In 400 and 800, two zeroes are at the right. So, we
put two zeroes in the difference.

Step 3 : Now, subtract the numbers, i.e., 8— 4= 4.

So, the answer is 400.
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- e
(¢ 17,000 — 1,000 = 6,000
~_ -

Step 1 : Check that the minuend and subtrahend are in the
same grouping, i.e., 1000s.

Step 2 : In 1,000 and 7,000, three zeroes are at the right. So,
we put three zeroes in the difference.

Step 3 : Now, subtract the numbers, i.e., 7—1=6.
So, the answer is 6,000.

(d 40-30=10
~_Y~_ ¥

D L
(e) 600 — 300 = 300
~_ T~ 7

e U vy U e
® 8,000 - 3,000 = 5,000

Exercise 5.6
1. (a) 35 from 272

Sol : Actual Value Estimated Value

HTO HTO

® ©@ ® ©

2 1 2 2 7 0

- 3 5 - 4 0

2 3 7 2 30

The actual value 237 when round off to the nearest 10 is 230.

So, the estimated value 230 is very close to the actual value 237.

(b) Actual Value Estimated Value
HTO HTO
@ ©®
S 3 & 8 4 0
4 4 0 -4 4 0
3 9 6 4 0 O

The actual value 396 when round off to the nearest 10 is 400.

So, the estimated value 400 is very close to the actual value 396.
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(¢) Actual Value Estimated Value
HTO H T O
@ ® @
g 4 0 & 4 0
-6 7 6 -6 8 0
1 6 4 1 6 0

The actual value 164 when round off to the nearest 10 is 160.

So, the estimated value 160 is very close to the actual value
164.

2. (a) Actual Value Estimated Value
H T O H T O
7T 9 4 8 00
_6 7 6 -7 0 O
1 1 8 1 0 O

The actual value 118 when round off to the nearest 100 is 100.

So, the estimated value 100 is very close to the actual value 118.

(b) Actual Value Estimated Value
HTO HTO
& ar
b @ —
a @

(©

The actual value 110 when round off to the nearest 100 1s 100.

So, the estimated value 100 is very close to the actual value 110.

Actual Value Estimated Value
HTO HT O
@ O
9 3 3 9 0 O
_3 7 8 -4 0 O
5 5 7 5 0 0

The actual value 557 when round off to the nearest 100 is 500.

So, the estimated value 500 is very close to the actual value
557.
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3. (a) 65-148
48=40+8 65— 40 = 25 25— 8=17
So, 65— 48=17
(b) 83— 38
38=30+8 83— 30=53 53— 8=45
So, 83— 38=45
() 57-32
32=30+2 57— 30=27 27-2=25
So, 57— 32=25

Exercise 5.7
1. Th H T O Th H T O
® ©® O o o O
3 0 2 9 4 3 6 1
-3 6 5 9 + 6 5 9
4 3 6 1 0 2 0
Now, add 4361 to 3659 to get So, 4361 is more than 3,659.
the correct answer.
2. ThHTO Th H T O
® © ©® ©)
i 0 0 0 2 3 4
-4 6 5 9 +4 6 5 9
2 3 4 1 7 0 0 O
Now, add 2341 to 4659 to get So, 2341 is more than 4,659.
the correct answer.
3. ThHTO Th H T O
s 5 4 7 +5 5 4 7
— 9 6 5 4
4 1 0 7
Now, add 4107 to 5547 to get So, 4107 is the other number.

the correct answer.
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4. Total invitation cards are sent to people = 2,950 ThHTO
Total people came to function = 1,997 %
Cards were not used = 2,950 — 1,997 -1 9 9 7
So, 953 cards were not used. 0 9 5 3
5. Bottles needed in a hospital = 7,284 Th H T O
Bottles received from medical company = 5,798 7 QZD %
More bottles need in hospital = 7,284 — 5,798 -5 7 9 8
So, more bottles need in hospital = 1486 4 8 6
6. Capacity of people in a circus ground = 5,298 ThHTO
Total people went to watch circus = 6,900 6 %
Total number of extra people on the ground -5 2 9 8
= 6,900 — 5,298 1 6 0 2
Total extra people on the ground = 1602
. Total bags of wheat in a godown = 56,498 TThT hHTO
Total bags of wheat sold = 2,505 5 6 %? % 8
Total bags of wheat left in a godown _ 2 5 0 5
= 56,498 — 2,505 5 3 9 9
Total bags of wheat left in a godown = 53993
8. Monthly salary of Mr Verma =¥ 9,500 Th H T O
Mr Verma spends =% 6,495 9 %) %
He saved Amount from his salary -6 4 9 5
=3 9,500-7% 6,495 3 0 0 5
Mr Verma saved ¥ 3005 from his salary.
9. ThHTO ThHTO
8 & 8 &
P — @ 6 — &8
6 B 2 @

Now, subtract 6348 from 8498

to get the correct answer.

So, 6,348 is the number when
it is subtracted from 8,498
we get 2,150.
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10. Cost of radio set =¥ 6,590

Shyam has amount =¥ 4,465
More money he need =% 6,590 — ¥ 4,465

=% 2125

Th HT O
6 5 9 ¢
-4 4 6 5
2 1 2 5

Shyam need extra money to buy the radio set =3 2125.

Check Yourself
1. (a) 4759-0=4759 () 1624-0=1624
(¢) 2149- 0=2149 (d) 2176-2176=0
(e) 8569 — 3000 = 5569 () 6596- 80=6516
2. (a) True (b) False (¢c) False (d) True
3. (@) 723 cm - 500cm () 1700-0
HTO HTO
b/ o
b — — 0
2 7 0 0
=223 cm =700
(¢) 1000 — 800 (d) 585—100
HTO HTO
@ B
- ® @ -
@ &
=200 =485
6. Multiplication
Exercise 6.1

1. (a) Addition :

5+5+5+5+5=25

(b) Addition:4+4+4+4=16

(¢) Addition :
(d) Addition :

T+7+7=21
8+8+8+8=32

Multiplication 5 x 5= 25
Multiplication 4 x 4 =16
Multiplication 7 x 3 =21
Multiplication 8 x 4 = 32
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2. (a) Tx9=63 (b) 8x9=172 (c) 8x6=48

(d) 7Tx7=49 (e) 9x4=36 ® 4x8=32
3- (a) illllll\illlllI\illllII\‘lllllIII\i,IIIII\i/IIIII\‘lllllll
0 6 12 18 24 30 36 42

(6 ) simes (6 ) = (6] (6] = (36

, N N \
(‘b) i Y
| T T T T T | T T T T T | T T T T T | T T T T T |

(3 Jtimes [ 10 J=[ 3 ] x[10]=[30]

- ~ - ~ - ~ - ~ -

~

N~ N o N> N7 N

’ A A

(C)|IIIII‘|/IIIII|IIIII‘|IIIIII|IIIII‘|
0 9 18 27 36 45

(5 ) times (9] = (8 ) x (5] =[]

Exercise 6.2

1. (@) Step 1 : First multiply 2 ones by 4. 0
2 ones X 4 = 8 ones. Write 8 under ‘O’. 2 2
Step 2 : Multiply 2 tens by 4. 2 tens X 4 = 8 tens. X 4
Write 8 under “T". 8 8
So, the product is 22 x 4 = 88
(b) TO (© T O (d) T O
3 2 1 4 4 9
X 3 X 2 x 1
9 6 2 8 4 9
2. (@ HTO
©)
9 2
X 5
460
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Step 1 :

Step 2 :

(b) HTO

76
X 6
456

Step 1 :

Step 2 :

Similarly,

(0 HTO
@
85

x 9
765

3. (a)

©
OO O Ot

Step
Step
Step

W N =

Multiply 2 ones by 5. 2 ones x 5=100ones =1 ten + 0
ones. Write 0 under ‘O’ and carry over 1 to the tens
column.

Multiply 9 tens by 5. 9 tens x 5=45 tens + 1 ten
(carried over) = 45 tens. Write 46 under “T".

So, the product is 92 x 5 = 460.

Multiply 6 ones by 6. 6 ones X 6= 36 ones = 3 tens
+ 6 ones. Write 6 under ‘O’ and carry over 3 to the
tens column.

Multiply 7 tens by 6. 7 tens x 6 =42 tens + 3 tens
(carried over) = 45 tens. Write 45 under ‘T".

So, the product is 76 X 6 = 456.

(d HTO

@
217

x 7
189

45x2=90
45x10=450

Sum of the products of step 1 and step 2
=90+ 450 = 540
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b HTO
14
x 12
2 8
140
568
Step 1 : 14x2=28
Step 2 : 14x10=140
Step 3 : Sum of the products of step 1 and step 2
=28+140=168.
Similarly,
(@ HTO (d HTO
0} ®
2 8 55
X 2 2 X 16
56 330
560 550
616 880
4. @ HTO () HTO (© HTO d HTO
@ @ @ ®
23 37 46 28
x 18 x 2 3 x 2 4 x 28
1814 111 184 224
230 740 920 560
414 851 11 0 4 784
Exercise 6.3
1. (a) Step 1 : Multiply 2 ones by 7. 2 onesx 7=14ones HTO
=1ten + 4 ones. %%2
Write 4 under ‘O’ and carry over 1 to the 7
tens column. 6874

Step 2 : Multiply 8 tens by 7.

8 tens X 7= 56 tens + 1 ten (carried over) = 57 tens
= 5 hundreds + 7 tens.

Write 7 under “T" and carry over 5 to the hundreds

column.
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Step 3 : Multiply 9 hundred by 7. 9 hundreds x 7=63
hundreds +5 hundreds (carried over) = 68 hundreds.
= 6 thousands + 8 hundreds. Write 8 under ‘H” and

6 under ‘Th’.
Similarly,
(b) HTO © HTO (d) HTO
412 96 %%
x 8 X 4 x 8
1236 784 3112
2. (a) Step 1: 285x9=2565 HTO
Step 2 : 285x 2=5700 %%5
Step 3 : Sum of the products of step 1 and step2 x 2 9
= 2565 + 5700 = 8265 2565
5700
8265
Similarly,
(b) HTO (© HTO (d) HTO
310 261 2% 4
x 18 x 14 x 36
2480 2244 1524
3100 5610 7620
5580 785 4 9144
Exercise 6.4
1. @ TO (b) TO © TO
10 28 12
X 8 X 10 X 20
80 00 00
280 240
280 240
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(d) TO (e) TO ® TO
50 90 100
X 40 X 60 x 4
00 00 400
2000 5400 -
2000 5400
2. (a) 25x37=35x25 (b) 36x 48= 48 x 36
(c) 87x29=29x 87 (d) 139 x 842 =842 x 39
(e) 288x1=288 (B 1x274=274
Exercise 6.5
l.@ T™HTO (® ThHTO (0 ThHTO
3213 1 592 $ %4
3 x 6 x 5
9 639 6 13 2 11 7 0 5
(d ThHTO (e) ThHTO ® ThHTO
29, 2 @l 1002
x 7 X 3 X 4
3 63 1 6 903 4 008
(8  ThHTO h) ThHTO
® Q@0 ® 0O
1 76 1 8709
X 6 X 2
10 5 3 6 31758

2. (a) 1080 x 2= (1000 + 80) x 2
= (1000 x 2) + (80 x 2)
= 2000+ 160 = 2160
(b) 1620 x 3=(1000+ 600+ 20)x 3
=(1000 x 3) + (600 x 3) + (20 x 3)
= 3000+ 1800 + 60 = 4860
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(c) 2345x 4=(2000+ 300+ 40+ 5)x 4
=(2000x 4)+(300x 4)+ (40x 4) + (b x 4)
= 8000+ 1200 + 160 + 20 = 9380

(d) 1050x 5=(1000+ 50) x 5= (1000 x 5) + (50 x 5)
= 5000+ 250 = 5250

(a) Multiply 36 by 8 using the estimation method by rounding off
to the nearest 10 to compare with the actual value.

Estimation Value Actual Value
HTO HTO
@
X 8 « 8
3 2 0 =288 9 8 8

So, the estimated value 320 is not very close to the actual

value 288.
(b) Estimation Value Actual Value
HTO HTO
(©) @}
40 4 2
X 7 X 7
2 8 0 =294 2 9 4
So, the estimated value 280 is very close to the actual value
294.
(¢c) Estimation Value Actual Value
HTO HTO
(©)
x 6 x 6
510 =510 510
(d) Estimation Value Actual Value
HTO HTO
®
9 0 91
x 4 x 4
36 0 =364 364
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(e) Estimation Value Actual Value
HTO HTO
®
50 49
x 6 x 6
300 =294 9 9 4
(f) Estimation Value Actual Value
HTO HTO
®
@ 5 7
x5 x 5
3 00 =285 9 8 5
Exercise 6.6

1. In 1 hour the bus travels = 50 kilometres

In 6 hours the bus travels = 50 x 6
So, the bus travels 300 kilometres in 6 hour.

2. Total students in a section of class IIIrd = 35 each

Total numbers of students in 9 section = 35x 9

So, 315 students are there in 9 sections

3. Number of people can travel in a bus = 75

Total number of people can travel in 12 such
buses = 75 x 12

So, 900 people can travel in 12 such buses.

4. Number of trees in a forest = 121

Number of chimps live on each tree = 7
Total number of chimps =121 x 7
So, 847 chimps are there in all.

HTO
©)
35

315

HTO
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5.

10.

Number of people can sit in 1 bus = 48

Number of people can sit in 200 buses = 200 x 48

So, 9600 people can sit in 200 buses.

A fruitseller has total boxes = 42

Each box having strawberries = 15

Total number of strawberries in all =42 x 15

So, 630 strawberries are there in all.

. A packet contains balloons = 148

Balloons in 18 such packets = 148 x 18
So, total balloon in 18 such packets is 2664.

Number of mother goats = 512

Each mother goat gave to birth = 2 kids
Total number of kids = 512 x 2=1024
So, there are total kids = 1024 kids
Cost of 1 shirt =3 345
Cost of such 14 shirts =% 345 x 14

Cost of 14 shirts =3 4830

We know, 1 hour = 60 minutes

1 day = 24 hours
Total minutes in a day = 60 x 24 = 1440 min

HTO
200
x 4 8

1600

8000

9600

HTO
2

Wi R~ O

OO O ot

(00)
345
x 14
1380
3450
4830
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Check Yourself

1. (a) 2399x 1=2399 (b) 2386 x 2651= 2651 x 4386
() 0x2485=0 (d) 2451x1=2451
(e) 80x 90=7200 (H 100x10=1000
(g) 60x100= 6000 (h) 13x6=178

2. (@) 4x3 G 2x7 [7x2]
(b) 6x3 () 10x 5[5 % 10]
() 7x2 (i) 21x3[9x 7]
(d 5x10 Gv) 10+2[4x 3]
(e) 9x7 v) 9%x2 [6x%3]

3. (a) 10x100=1000 (b) 6x8x3=144

(©

(d)

(e)

100
x 10
000
1000
1000

Greatest 2-digit number = 99
Smallest 3-digit number = 100
The product = 9900

Greatest 3-digit number = 999
Smallest 2-digit number = 10
The product = 9990

80 x 80 8 0

x 8 0

00
6400

6400

The product of 80 and 80 is 6400.

6 4 8
X 8 X 3

4 8 1 4 4

100

x 99

900
9000

9900

99 9

x 10

000
9990

9990



C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

1. (a

(©

(e)

(g

2. (a)

7. Division

8+2=4 8-2=6 (b) 1616+4=4 16-4=12
6-2=4 12-4=8
4-2=2 8-4=8
2-2=0 4-4=0
12+6=2 12-6=6 (d 20+4=5 20-4=16
6-6=0 16—4=12
12-4=8
8—4=4
4-4=0
30-5=6 30-5=25 ® 27+9=3 27-9=18
25— 5 =20 18-9=9
20-5=15 9-9=0
15-5=5
5-5=0
49+7=7  49-7=42 (h) 24+8=3 24 -8=16
42 -7=35 16-8=8
35— 17=28 8-8=0
28 —7=21
21-7=14
14-7=717
7-7=0
16— 4=12 (b) 20+5=4
12-4=8 20-5=15
8—4=4 15-5=10
4-4=0 10-5=5
4+4=1 5-5=0
Ist Jump IInd Jump IIrd Jump IVth Jump VthJump VIth Jump VIIth Jump
012545678 9101112131415161715 1 20 21 22 23 24 25 26 27

(2] (3)

=7
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N

012 345 6 738 9101112131415161’71’81:92:02:12:22:32:42:52:62:7
(6] (5]=(2]
N N

()

0 1 2 3 4 5 6 7 8 9 101112131415161718192021222324252627

(b)

(25 )+ [5])=[5]

Ist Jump IInd Jump IIIrd Jump

4. (a)

01234567 8 91011121314151617 1819 20 21 22 23 24 25 26 27
21+7=3

Ist Jump IInd Jump IIIrd Jump

@):KfTT“TT\KfTTQTT\KTTi‘Tﬁ\

012345 6 78 91011121314151617 1819 20 21 22 23 24 25 26 27

18+-6=3

Exercise 7.2

1. Multiplication Facts Corresponding Division Facts
(a) 2x8=16 16+2=8 16+8=2
(b) 4x6=24 24+6=4 24+4=6
(c) 3x7=21 21+7=3 21+3=7
(d) 2x9=18 18+9=2 18+2=9

2. (@) 3x9=27 3 and 27 =

27

®) 5x9=45 : and (45)

() 2x7=14 + : and @
18) -

o .|.
(=)o)
Il

- [
-

(©] ©

(d 9x2=18

3. (@ 9+9=1 9) 9 (1

[When we divide any number by
0 itself the answer is 1.]
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(b) 24+1=24 1)24 (24
24 [When we divide any number by 1,

0 the answer is the number itself]

() 20+10=2 10) 20 (2
20

0

(d) 0+7=0 [When we divide 0 by any number, the answer is 0.]

Similarly,
(e) 32+32=1 H 118+1=118
32) 32 (1 1)118(118
32 1}
0 1)
_ il
—
8
0
4. (a) 93+1=93 (b) 75+1="175 (c) 50+10=5
d 0+37=0 (e) 623+623=1 ® 0+55=0
Exercise 7.3
1. (a) 57by5 5757011
Step 1 : Divide the number on the extreme left, i.e. ﬂ
5 have by 5. 7
5+5=1 5
Write 1 above in the tens place of the —

quotient and 5 below the dividend in the
tens place 5—5=0. Write O below 5 and
bring down 7 ones.

Step 2 : Divide 7 by 5. 7+ 5=1 and the remainder is 7— 5= 2
(as 2< 5). Write 1 in the quotient in the ones place
and 5 below 7.

Step 3 : Write 2 as the remainder. We cannot divide further
as we got a remainder which is less than the divisor.

So, =11, R=2
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Similarly,
(b) 85+4 (c) 67+6 (d) 84+4
85 (21 6) 67 (11 4) 84 (21
5) s L
5 7 4
4 6 4
1 1 S0
So,@=21,R=1 So,@=11R=1 So,@=21,R=0

(e) 96+ 6 6)96(16
LY
36
36

0

Step 1 : Divide 9 by 6. 6 goes 1 time in 9 and the remainder
1s 9-6=3. (3<6). Write 1 in the quotient in the
tens place and 6 below 9.

Step 2 : Subtract 6 from 9, that is 9 - 6= 3. Write 3 below 6
and bring down 6 ones and write it next to 3 to get
36.

Step 3 : Divide 36 by 6. 6 goes 6 times in 36 and the
remainder is 36 — 36 =0

So,@=16,R=0

Similarly,
H 68+2 (g) 69+6 (h) 92+9
2) 68 (34 6) 69 (11 9) 92 (1
il o o
8 9 02
8 6
0 3

So,@=34,R=0 So,@=11, R=3 So,@=1, R=2
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2. (@) 36+3

Step 1 :

Step 2 :

Check :

(b) 48+38

Step 1 :

Check :

() 97+4

3) 36 (12
3
6

6

0

Divide the number on the extreme left, i.e. 3+ 3=1.
Write 1 in the tens place of the quotient and 3
below the dividend in the tens place 3 — 3= 0. Write
0 below 3 and bring down 6 ones.

Divide 6 by 3. Write 2 above in the ones place of the
quotient and 6 below the dividend in the ones place.
6—6=0. We get 0 as the remainder.
So, dividend = 36 , divisor = 3, quotient =12 and
remainder = 0

Divisor x Quotient + Remainder = Dividend

ie., 3x12+ 0= 361s dividend

Hence, the answer is verified.

8) 48 (6
48

0

Divide 48 by 8. 8 goes 6 times in 48 and the
remainder is 48 — 48 = 0.

Write 6 in the quotient and 48 below the 48. We get
0 as the remainder.

Divisor x Quotient + Remainder = Dividend
That 1s, 8 x 6 + 0 = 48 1s dividend

Hence the answer is verified.

4) 97 (24

8}
17
16

1
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(d)

(e)

®

Step 1 :

Step 2 :

Step 3 :

Check :

56+5 5

Check :

42+ 8

Check :

29+ 2

Divide 97 by 4. 4 goes 2 times in 9 and the
remainder is 9— 8=1. Write 1 below 8 and bring
down 7 ones and write it next to 1 to get 17.

Divide 17 by 4. 4 goes 4 times in 17 and the
remainder is 17— 16=1. Write 4 in the ones place
and 16 below 17.

Write 1 as the remainder. We cannot divisor further
as we got a remainder which is less than the
divisor.

So,@=24, R=1
Divisor x Quotient + Remainder = Dividend
le., 4x24+1=971s dividend

Hence the answer is verified.

55 (11

Q=11,R=0

o
o] e

Divisor x Quotient + Remainder = Dividend
5x11+0=55

Hence the answer is verified.

8) 42 (5

40 Q=5R=2
2
Divisor x Quotient + Remainder = Dividend
8Xx 5+ 2=42
Hence the answer is verified.
2) 29 (14
2
9 Q=14 R=1
8
1
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Check : Divisor x Quotient + Remainder = Dividend
2x14+1=29

Hence the answer is verified.

(g 69+6  6)69 (11

s
9 Q=11,R=3
6
3
Check : Divisor x Quotient + Remainder = Dividend
6x11+3=69

Hence the answer is verified.

th) 75+9  9)75 (8

72 Q=8 R=3
_3
Check : Divisor x Quotient + Remainder = Dividend
9x8+3="75

Hence the answer is verified.

Exercise 7.4
1. (a) 459+4 4) 459 (114

Step 1 : Start dividing from left side. Divide 4 4i
by 4. 4+ 4=1. Write 1 in the quotient 5

in the hundreds place and 4 below 4. 4]
Step 2 : Bring down 5 from the tens place. 19
Divide 5 by 4. 5+ 4 = 1. Write one is the 16
tens place in the quotient. 5—4=1. 3

Write 1 as remainder. We can not
divide further as we got a remainder which is less
than the divisor.

Step 3 : Bring down 9 ones and write it next to 1 to get 19.
Divide 19 by 4. 4x 4=16, 19+ 4= 4. Write 4 in the
ones place in the quotient 19— 16 = 3.

So, we have Q =114, R = 3.
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(b) 635+ 2 2) 635 (317

Step 1 : Divide 6 by 2. 2 goes 3 times in 6 and 6i
the remainder is 6 — 6= 0. Write 3 in 3
the quotient in the hundreds place and 92

Y

6 below 6. 15

Step 2 : Subtract 6 from 6, that is 6-6=0. 14
Write O below 6 and bring down 3 tens 1
divide 3 by 2. 2 goes 1 times in 3 and ——
the remainder is 3—2=1 (as 1< 2). Write 1 in the
quotient in the tens place and 2 below 3. Write 1 as
the remainder.

Step 3 : Now, bring down 5 from the ones place and write it
next to 1 to get 15. Divide 15 by 2. (2x 7=14).
14+ 2="7. Write 7 in the ones place in the quotient.

15-14=1
So, we have Q@ = 317, R=1.
Similarly,
() 7,144+ 8 (d) 8,056+ 6
8) 7144 (893 6) 8056 (1342
o4 6)
74 Q = 893 20 Q@ =1342
2y  R=0 18y R=4
24 25
24 24]
0 16
- 12
4
(e) 225+5 ® 740+7
5) 225 (45 7) 740 (105
20} Q=45 K Q=105
0 5
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(g) 6275+ 4 (h) 9,235+5
4) 6275 (1568 5) 9235 (1847
4} 5)
22 42
204 Q = 1568 4001 @=1847
27 R<3 23| p_,
24 20
35 35
32 35
3 0
2. (a) 385+7 7)7385 (55

Step 1 : Start dividing from the left side. Divide 35
3 by 7 but 3<7, so division is not
possible. Hence we take 38.
Divide 38 by 7. 38+ 7=5 with 3 as 35
remainder. Write 5 in the tens place of
the quotient. Write 35 below 38.
38 — 35 = 3 (remainder)

Step 2 : Bring down 5 ones. Now, we have 35. divide 35 by
7= 5 with 0 remainder. Write 5 in the ones place of
the quotient. 7x5=35. Write 35 below 35.
35— 35=0 (remainder)

So, we have Q@ =55, R=0
Check : Divisor x Quotient + Remainder = Dividend
7x 55 % 0= 385= Dividend

Hence, the answer is verified.

35

Similarly,
(b) 397+9 (c) 1937+ 6
9) 397 (44 6) 1937 (322
36} 18]
37 13
36 h2
o IR
1<
So, we have Q =44, R=1 So, we have @ =322, R=5
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(d) 2181+5 (e) 899+4
5) 2181 (436 4) 899 (224
20 8]
18 9
15) 8,
31 19
30 16
1 3
So, we have Q = 436, R=1 So, we have Q@ =224, R=3
® 615+ 8 (e) 3275 4
8) 615 (76 4) 3275 (818
56} 22|
55 7
48 4y
T 3
32
5
So, we have Q =76, R="7 So, we have @ =818 R=3
(h) 5312+9
9)5312(590
s
81|
81,
2

So, we have @ =590, R =2

Exercise 7.5
1. (a) 26+1=26 [We know, if a non-zero number is divided by 1,
the quotient is the number itself.]

(b) 25+1=25 [If a non-zero number is divided 1,
the quotient is the number itself.]

() 59+59=1 [If a non-zero number is divided by itself,

the quotient is 1.]
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@ 0+:2=0

Similarly,

(e) 14+14=1

2. (a) 2+389
Step 1 :

Step 2 :

Step 3 :

Similarly,

(b) 2+96

2) 96 (48

8
16
16
0

So, Remainder = 0
Quotient = 48
96+ 2=48

[If zero is divided by any non-zero number,
the quotient is 0.]

® 0+16=0

2) 389 (194
Divide 3 hundreds by 2. 2 goes into 3 ﬂ
one time 2 x 1= 2. Write 1 at hundreds 18
place in the quotient and 2 below 3. 3

18,
hundreds -2 hundreds =1 hundreds é_
Bring down 8 tens 8
1 hundreds + 8 tens = 18 tens 1

Divide 18 tens by 2.

2 goes into 18 nine times. 2 x 9= 18. Write 9 at tens
place in the quotient and 18 below 18.

Bring down 9 ones.
Divide 9 ones by 2.

2 goes into 9 four times 2x 4= 8. Write 4 at ones
place in the quotient and 8 below the 9.

9 ones — 8 ones = 1 ones
So, Remainder = 1, Quotient = 194
389+2=194

(©) 3=+ 457

35 457 (152
3y

15
15,
7
6

<+

1

So, Remainder = 1
Quotient = 152
457+ 3=152
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d) 4+89

45 &9 i22
8l
9
8

1

So, Remainder = 1
Quotient = 22
89+ 4=22
® 5+89

55 89 (17
|
39
35
4

So, Remainder = 4
Quotient =17
(h) 6+ 876
6) 876 (146
N
27|
24
36
36

0

3. (a) 60+10=6

10) 60 (6

60

0

(e) 4+ 1738
4) 738 (184

4
33
32)

18

16
2

So, Remainder = 2
Quotient = 184
738+ 4=184
(g) 5+ 250

5) 250 (50
25

00

So, Remainder = 0

Quotient = 50

So, Remainder = 0

Quotient = 146

(b) 90+10=9

10) 90 (9

90

0



C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

() 70+10=7

10) 70 (7
70

0

(e) 210+10=21
10) 210 (21

20}
10
10

0

4. (a) 79+10
10) 79 (7
79

Q=7R=9
() 2431+10

10) 2431 (243

20}
43]
40,

31
30
1

Q=243 R=1

d) 160+10=16

10) 160 (16
10}
60
60

0

® 3,860+10= 386

10) 3860 (386
30
86
80,
60
60
_0
(b) 675+ 10
10) 675 (67
60,
75
70
Q=67,R=5
(d) 723+100
100) 723 (7
700
23
Q=17 R=23
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(e) 5894 +100

100) 5894 (58
500/
894
800
94
Q=58 R=94
Exercise 7.6
1. Cost of 8 toy guns =% 288 8) 288 (36
Cost of 1 toy gun =3 288+ 8=% 36 24¢
Cost of 1 toy gun =% 36 48
48
0

2. Total number of students is divided into 6 equal 6) 504 (84

groups = 504 48l
Total students in each group = 504 + 6 24
There are 84 students in each group. 24
0
3. If total students can sit on 1 bench = 6 students 6) 882 (147
Total number Benches are needed for 882 students Gi
- 882+ 6 28
For 882 students needed benches = 147 24‘2'—
4
42
0
4. A car goes in 1 litre = 8 km 8) 1040 (130
It will consume petrol to go 1040 km = 1040 + 8 8 i
The car will consume 130 litre of petrol to go 24
1040 km. 24y
00
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5.

10.

The product of two numbers = 7304

One of the number of the product = 8
The other number of the product = 7304 + 8
The other number of the product = 913

Beds were arranged in 10 halls = 360
Beds in each hall = 360 + 10

36 beds were arranged in each hall.

. We know that 1 week = 7 days

Total weeks in 175 days =175+ 7
There are 25 weeks in 175 days

Mohan can run in one hour = 9 km
Total time taken to cover 387 km = 387+ 9
Mohan can run 387 km in 43 hrs.

Cost of 1 ice-cream =3 3

Ice-cream can be purchased in ¥ 6000 =% 6000+ 3

2000 ice-cream can be purchased in ¥ 6000.
Total number of pages in 8 books = 8416

Total number of pages in 1 book = 8416 + 8
Total number of pages in 1 book = 1052

8) 7304 (913

72]
10

8

24

24
0

10) 360 (36
30}
60
60
0

7) 175 (25
14
35
35
0

9) 387 (43

36}

27
27
0

3) 6000 (2000
6

0000

8) 8416 (1052

8]
41

40

16
16
0
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Check Yourself

1. (a 0+50=0 (b) 90+1=90
(c) b4+54=1 (d) 6755+6755=1
(e) 567+1=567 @ 0+636=0

2. See in the answer sheet.

3. (a) 750+10 (i) 116 [464 = 4]
(b) 4644 @ o [0+ 25]
(c) 135+5 (1) 968  [3872 + 4]
(d) 3872+4 @iv) 75 [750 + 10]
(e) 0+25 v) 27 [135 + 5]

4. (a) 75+ 75gives a quotient=1 (b) 400+ 10=40

75) 75 (1 10) 400 (40
75 400
0 0

(¢) 72+ 9gives a quotient = 8 (d) If54+6=29 thenis

9) 72 (8 9) 54 (6
72 54
0 0
8. Time
Exercise 8.1

1. (a) In this clock, the long hand is on 12 and the short hand is on 7.
It is 7 O’ clock or 7 : 00.
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(b) In this clock, the long hand is on 12 and the short hand is on 3.
It is 3 O’ clock or 3 : 00.

(¢) In this clock, the long hand is on 12 and the short hand is on 2.
It is 2 O’ clock or 2 : 00.

(d) In this clock, the long hand is on 12 and the short hand is on 5.
It is 5 O’ clock or 5 : 00.

2. Do yourself

Exercise 8.2
1. (a) The hour hand is between 2 and 3.
The minute hand is at 6.
The clock shows 2 : 30 or Half past 2.

(b) The hour hand is between 4 and 5.
The minute hand is at 6.
The clock shows 4 : 30
Half past 4.
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(¢) The hour hand is between 9 and 10.
The minute hand is at 6.
The clock shows 9 : 30
Half past 9.

(d) The hour hand is between 10 and 11.
The minute hand is at 6.
The clock shows 10 : 30
Half past 10.
2. and 3. do yourself

Exercise 8.3
1. (@) The hour hand is in between 4 and 5.
The minute hand is at 3.
The clock shows 4 : 15.
It is quarter past 4.

(b) The hour hand is in between 6 and 7.
The minute hand is at 3.
The clock shows 6 : 15.
It is quarter past 6.

(¢) The hour hand is in between 8 and 9.
The minute hand is at 3.
The clock shows 8 : 15.
It is quarter past 8.

(d) The hour hand is in between 11 and 12.
The minute hand is at 3.
The clock shows 11 : 15.
It is quarter past 11.
2. and 3. Do yourself
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Exercise 8.4
1. (a) The hour hand is between 2 and 3.

The minute hand is at 9.
The clock shows 2 : 45.

It is quarter to 3.

(b) The hour hand is between 9 and 10.
The minute hand is at 9.
The clock shows 9 : 45
It is quarter to 10.

(¢) The hour hand is between 5 and 6.
The minute hand is at 9.

The clock shows 5 : 45

It is quarter to 6.

(d) The hour hand is between 8 and 9
The minute hand is at 9.
The clock shows 8 : 45

It is quarter to 9.

2. Do yourself

Exercise 8.5
1. (@ The shorter hand is in between 2 and 3.
Which means minutes part 2 or minutes to 3.
The longer hand is at 1 which indicates as 5 minutes
So, clock shows 2 : 05 or 5 minutes part 2.
(b) The shorter hand is in between 5 and 6.

Which means minutes part 5 or minutes to 6.

The longer hand is one subdivision before the 3.
So it indicates 14 minutes.

So, clock shows 5 : 14 or 14 minutes past 5.
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(¢) The shorter hand is in between 9 and 10

(d)

Which means minutes past 9 or minutes to 10.

The longer hand is two subdivision after the 5 which indicates
26 minutes 9 : 26

So, clock shows or 24 minutes part 9.
The shorter hand is in between 12 and 1.

Which means minutes part 12 and minutes
to 1. The longer hand is at 5 which means 25 minutes.

So, clock shows 12 : 25 or minutes part 12.

2. Do yourself

Exercise 8.6

1. We know that the hours in between midnight and noon are written
with a.m. and the hours in between the noon and midnight are
written with p.m.

(a)
2. (a)

(b)

©

(d)

4:00a.m. (b) 10:00.a.m. (c) 2:00 (d) 3:00p.m.
Both are in between noon and midnight. So, starting from
12 : 00 with to the 4 : 00. 1, 2, 3 and 4.
So, there are four hours in between 12 : 00 noon and 4 : 00 p.m.
Both times are in between midnight and noon.
So, Starting from 3 : 00 count to 8 : 00

4:00, 5:00, 6:00, 7:00, 8:00
So, there are 5 hours in between 3 : 00 a.m. to 8 : 00 a.m.

Both times are in between midnight and noon, so, starting
from 6 : 00 count to 10 : 00

7:00, 8:00, 9:00and10:00
So, there are 4 hours in between the 6 : 00 a.m. and 10 : 00 a.m.

One time is in between noon to midnight and other is in
between midnight to noon.

So we start counting hours from 10 : 00 with p.m. and a.m.
11:00 pom. 12 : a.m., 1 : 00 a.m., 2 : 00 am., 3 : 00 a.m.,
4:00a.m.5:00a.m. 6:00am.7:00am.

So, there are 7 hours in between the 10 : 00 p.m. and 7 : 00 a.m.

3. As per answersheet
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4. (a) 10 :50 in the Night Lies in between noon to and midnight
so, we write the time between noon and midnight with p.m. So,
10 : 50 p.m.

(b) 2 O’clock at Night Lies in between midnight and noon so,
we write the time between midnight and noon with p.m.

So, 10 : 50 p.m.

(c) 11:46 Before Noon Lies in between midnight and noon
So, we write the time between midnight and noon
So, 9 : 00 a.m.

(d) Do yourself

Exercise 8.7

1. As per answersheet 2. Do yourself

3.(s M T wW T F s

1. 2 3 4 5

6 7 8 9 10 11 12

13 14 15 16 17 18 19

20 21 22 23 24 25 26
27 28 29 30 31

(a) Sundays fall on 6,13, 20 and 27. So there are four Sundays.
(b) Friday falls on 4, 11, 18 and 25.

(¢c) This is Tuesday on 1 date.

(d) 10 Falls on Tuesday.

(e) 27 Falls on Sunday.

Exercise 8.8

1. (a) *+ 1 Second= L minutes
60

60 seconds = % minutes = 1 minutes

(b) -+ 1 hours = 60 minutes
So, 60 minutes = 1 hour
(¢) -+ 1day=24hour
So, 24 hours = 1day
(d) - 1week="7days
So, 7 days = 1 week
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(e)

(®

2. (a)

(b)

(©

3. (a)

(b)

(©

(d)

(e)

®

4. (a)

(b)

(©

5. (a)

©

1 non-leap year = 365 days
So, A non-leap year has 365 days.
1 leap year = 366 days
So, A leap years has 366 days.
1 month = 30 days
2 month 3 days =2 x 30+ 3 days = 60+ 3= 63 days
1 month = 30 days
6 months 10 days = 6 x 30+ 10 days = 180 + 10 days = 190 days
1 week = 7 days
5 weeks 4 days =5x 7+ 4days = 35+ 4= 39 days

1 hour = 60 minutes

3 hours = 3 x 60 = 180 minutes

1 hour = 60 minutes

4 hours = 4 x 60 = 240 minutes

1 hour = 60 minutes

5 hours = 5 x 60 = 300 minutes

1 hour = 60 minutes

6 hours 6 min = 6 x 60 + 6 = 366 minutes

1 hour = 60 minutes

2 hours 10 minutes = 2 x 60 + 10 = 130 minutes
1 hour = 60 minutes

5 hours 5 min = 5x 60 + 5 = 305 minutes

1 min = 60 sec

3 min = 3x 60 =180 sec

1 min = 60 sec

10 min 10 sec =10 x 60+ 10 = 610 sec

1 min = 60 sec

5 min 10 sec = 5x 60+ 10= 310 sec

1 day = 24 hours (b) 1 day = 24 hours

3 days = 3 x 24 = 72 hours 4 days = 4 x 24 = 96 hours
1 day = 24 hours
5 days=5x24=120
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Check Yourself
1. (@) In aleap year, February has 29 days.
(b) May is the fifth month of the year.

(¢) The month of July and August come after one another which
have 1 days each.

(d) There are 30 days in the month of September
2. As per answersheet.
3. (a) Harry goes to school at (8 a.m./ p.m.)
Because school start in the morning
(b) Nancy takes her dinner at (9 a.m./ p.m.)
Because dinner is eaten at night.
(c) dJufie goes to play tennis at (4 p.m./ a.m.)
Playing at 4 a.m. is not possible.
(d) My father comes back from office at (6 : 30 p.m. / a.m.)
We write the time at evening with p.m.
(e) Some takes his breakfast at (7 p.m./ a.m.)
Breakfast is eaten at morning.

4. As per answersheet.

9. Money

Exercise 9.1
1. (a) Rupees =82 (b) Rupees =160
Paise =15 Paise = 55
3 82.15 - ¥160.55
(¢) Rupees=5 (d) Rupees =15
Paise = 35 Paise =8
35.35 - ¥15.08
2. (a) Rupees =15 Paise = 9

Fifteen rupees nine paise
(b) Rupees = 92 Paise =15

Ninety two rupees and fifteen paise
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(¢) Rupees =25 Paise = 50
Twenty five rupees fifty paise
(d) Rupees =7 Paise = 85

Seven rupees eighty five paise.
3. (@) T 15.07=15x100+ 7 paise = 1507 paise
v

(b) T 1556 paise =T 220 _z 15.56
100

X

(©) ¥ 10.51=10x 1000 + 51 paise = 1051 Paise

)

(d) 385 paise =T S22 _% 3.85
100

)

(e) 1640 paise =% 1640 =316.40
100

(+)

. 365
365 paise =% — =% 3.65
® p 100

4. (a) -~ ¥1=100paise (b) -+ T 1=100paise
¥ 8=8x100 paise . ¥10=10x 100 paise
= 800 paise =1000 paise
(¢) -+ %¥1=100paise (d) -+ ¥1=100paise
% 7.50="7.50x 100 paise - ¥ 8.40=8.40x100
= 750 paise = 840 paise
(e) - T 1=100paise @® -+ ¥1=100 paise
3 13.30=13.30 x 100 paise . ¥60.10=60.10%x 100 paise
= 1330 paise = 6010 paise
1 1
5. (@ - lp:?l—00 (b) - lpz?l—00
640 p=2 94 _z .40 - 960p=%2%0_z 960
100 100
Rupees = 6, Paise = 40 Rupees = 9, Paise = 60
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1 1
¢ v 1p=%— d v 1p=%—
© p 100 (d) p 100
401op:%@=% 40.10 7005p=%@=? 70.05
100 100
Rupees = 40, Paise =10 Rupees = 70, Paise = 5
Exercise 9.2
(o)) ©) ©)
1. (a) %40.45 (b) %25.20 (c) %60.50
+320.65 + %46.05 +3%28.75
Z61.10 T71.25 T89.25
@ O QO © Q@ O
(d) T 50.79 (d) T 92.08 ® T 75.90
T 89.82 T 12.97 T 28.86
+3 23.51 +3% 18.26 +3 29.38
Z164.12 Z123.31 T134.14

00)
[©0) © @
2. (a) 100.00 (b) 95 95 © 2 108.50

Z 60.50 230.96 ¥ 16.59

+% 19.80 +T41.97 +X121.70
2180. 30 398.18 X246 .79

0RO o0 O

) 8.7 (o) £200.00 (f Z 29.38
Z 20.09 £300. 00 Z 49 .56

+3% 45.60 +3100.10 +3% 29.94
7146 . 44 2600.10 2108.88

3. (@ 95P+80P+70P=245P

R
100

ousP=22% _z945
100
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®) 95P+35P+25P=155P
1p=z_ 1
100

155 P=2 %2 _7155
100

(©) T5P+20P+80P=175P
100

175P=3 1% _71.75
100

(d 75P+85P+95P=255P

IP:?L
100

255 P =% 2°° -7 955
100

(e) 45P+16P+35P=96P

R
100

96P=22% _7z0096
100

() 25P+65P +55P=145P
1p=z_ 1
100

145P=3% 1% _71.45
100

4 ® OO ©O O
. (a) T77.20 () T90.88 (© TI8.15
—344.85 ~%89.05 - % 8.85
%32.35 T 1.83 ? 9.30

(OX®) ® O
(d) T 00 2~ 00@©® T _101,. 10 D T A8/ .

T - 90 . 99 T - 90 . 90 T 25
T 9 .01 z 10 . 20 T 22 .
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O GO
R16.90

-3 9.9
X 6.95

5. (a)

(d) T12.30
-3 2.9

10.55

6. (a) 219.00
~%15.00

304.00

(d) T70. Y0
- 365.05

X 5.05

Exercise 9.3

@
1. (a) 325
x 3
375

©0)

(d) Z75.80
X 9

682 .20

(6]

314.90
X 6

389.40

2. (a)

(b)

(b)

(b)

(e)

(b)

330 . 00

—349.99

00.01

OW)
I27.05
-%19.00

08.05

3380 .00

- 324.85

25.15

OOXU)
20 .00
-%19.90

00.10

(© T30 .05

- 18.96
11.09

©® ©

®  zx00.00
- % 69.10

Z 30.90

(©  2x00.00

- X 85.25
I 14.75

® T30.00

-3 5.9
324.05

©)
(0 %21.20

< 148. 40

©0)
® T29.99

3179.94

Q@ @

() T20.75
X 3
362.25



@ @
(d) ¥15.15
x 9

3136.35

g 26

3. (@ 2) 752

-4
12
- 12
X

=326

1.08

(d) 10) 710.80 |
~10]]

80
-380
X

=%1.08

3 3.08

4. (@) 9) z27.72 (

-72

®
() T10.50
X 4

T42.00

¥8.10
(b) 4) T32.40 (
-32)
40
—40
X

=% 8.10

%6.30

(e) 3) T18.90 |
~18

9

-9

Y

00

=%6.30

12.25

(b) 7) z85.75 (
—7

15|

~14]

17

—14]

—

~35

X

=312.25
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©2 @
® T108.35
X 8

Z 866 . 80

8.15

(© 5) 740.75 |
— 40

7
5

Y

25

- 25

X

=%8.15
4.9

() 6) 729.40 (
—24

54

—54]

00

=34.90

16.10

© 3) 74830 (

—3}
18

18]
3
_3'
00

=%16.10
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Z3.60 Z6.90
(d 6) 721.60 ( () 5) T34.50 |
~-18 ~30
36 45
- 36 - 45v
Y r
00 00
=% 3.60 =%6.90
?16.10 Z3.50
5. (@) 4) T64.40 (b) 8) 728.00 (
—4 ~24)
24 40
—24 | — 40
4 00
4 =% 3.50
00
=% 16.10

Exercise 9.4
1. Mannat purchased a bat =¥ 94.50
Mannat purchased a ball =% 25.50

Total amount she spend

2. Mummy gave me = ¥ 50.00
Daddy gave me =% 25.50
Elder brother gave me =% 25.00

Total money I have

3. 1bought birthday gift =% 35
I gave money to the shopkeeper =3 100

Shopkeeper returned money

%29.20

H 2) % (

58.40
-4

4

18
- 18

3 8.41

(© 5) 74205 |

-0y

20

54
+ 3
£

94 . 50
25 .50

120 . 00

3
3
+ T
g

00)

50 .00
25 .50
25 .50

~%101.00

% 100

- 35

3 65
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4. Radha bought bread =% 20.50 Z 20 .50
Eggs = T 96.00 Z 96.00

Biscuits = 13.00 + 3% 13.00

He spend money 3129.50

5. A boy paid = 10.00 218 o
He got back =¥ 5.50 -3 5.50
The cost of pen 3 4.50

6. Rohit bought sweets for =3 154.50 z _ng
He gave money to the shopkeeper =3 170 - X 154.50
The money returned by the shopkeeper ¥ 15.50

7. The sum of T 96.20 and T 34.75

©)
T 96.20
+3 34.75
T130.95

Now subtract ¥ 125.00 from ¥ 130.95

@0
3 130.95
— % 125.00
T 5.9
8. %4.%0
+ 3% 24.60
T 24.90

So, T 49.501s T 24.90 greater than the T 24.60.

Check Yourself
1. (@ -+ 1 rupee=100paise
4 rupees 25 paise = 4 x 100 + 25 paise = 425 paise
(b) T 44.60 = 44 rupees 60 paise
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(¢) ¥1=100 paise
¥ 5=5x100= 500 paise

20 paise coin required to make ¥ 5= 52—(1)0 paise = 25 coins

. 1
d) 1paise=% —
(d 1p 100

695 paise =% 695 =36.95
100
(e) 1paise=% 1
100
14 paise =% —- =% 0.14
100

2. (a) 7 rupees 70 paise =% 7.70 (b) 7 rupees 77 paise =% 7.77

So, (iv) So, (111)
(¢) 7rupee=7% 7.00 (d) 7 rupees 7 paise =% 7.07
So, (1) So, (ii)

(a) We write 6 rupees as ¥ 6 so

T is the correct symbol to represent rupees.
So, (11)
(b) One pen costs =% 5.50
The cost of 8 pens = ?Cg). 50
X 8
344 .00

So, 8 pens cost =3 44.00, So (i)
(¢) Neha buys a pencil =3 1.25
and an eraser =< 1.00
She gives T 5.00 to shopkeeper so she will get back money
=3 5.00- (X 1.25+% 1.00)
=35.00-%2.25=%2.25
So, she will get ¥ 2.25 in return. So, (1)
(d) We can write 7 rupees 60 paise
as ¥ 7.60 and 760 paise

So, (ii1) is the correct option.
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10. Fractional Number

Exercise 10.1

1. Only figure (a) is divided into two equal parts so (a) is to be ticked
2. Do yourself

3. (a) In the given only one part is shaded out of six parts. So the

fraction showing the shaded part = %

(b) In the given figure three parts are shaded out of eight parts.
So the fraction showing the shaded part = %
(¢) In the given figure two parts are shaded out of six parts. So

the fraction showing the shaded part = %

Exercise 10.2

1. (@ % of 15 strawberries = é X 15 = 5 strawberries

So, circle 5 strawberries.

(b) i of 12 apples = i x 12 = 3 apples

So, circle 3 apples.

2. As per answer sheet.

3. () 1 — Numerator =1 ®) 9 — Numerator =9
’ 5 — Denominator =5 15 — Denominator =15
© 7 — Numerator =17 @ 5 — Numerator =5
C PR PR
10 — Denominator =10 11 — Denominator =11
4. (a) Numerator = 6 (b) Numerator = 7
Denominator =11 Denominator = 15
So, the fraction = 6 So, the fraction = 7
11 15
(¢) Numerator = 5 (d) Numerator =1
Denominator = 6 Denominator = 7
So, the fraction = % So, the fraction = %



C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

(e)

(8

@

Numerator = 2 () Numerator = 2

Denominator = 9 Denominator = 3

So, the fraction = % So, the fraction = %

Numerator = 1 (h) Numerator =3

Denominator = 2 Denominator = 9

So, the fraction = L So, the fraction = § or 1
2 9 3

Numerator = 1 (G) Numerator = 5

Denominator = 6 Denominator = 8

So, the fraction = % So, the fraction = g

Exercise 10.3

1.

(a)

(b)

(a)

(b)

(@)

(b)

24..m...;
7‘II\UIII'

5 A 1 2 3 4 B

5 5 5 4 5

4
24||fh|||||
- <00
7 A 1 2 3 4 5 6 B
7 7 7 7 7 7 58
7

Two parts are coloured out of six. So the fraction % will

represent the segment correctly.
Six part are coloured out of ten. So the fraction 1—% will

represent the segment correctly.

Only é has different denominator = 2, which is not equal to 3,

so, % is unlike fraction.

Only % has different denominator = 3, which is not equal to 10,

S0, % is unlike fraction.
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(©

(d)

(e)

(®)

(@)

(b)

©

(d)

Only 1—22 has different denominator = 12, which is not equal to

13, so é is unlike fraction.

Only % has different denominator = 5, which is not equal to 9,

SO % is unlike fraction .

Only g has different denominator = 7, which is not equal to 5,

SO g is unlike fraction.

Only 3 has different denominator = 7, which is not equal to 8,

SO % is unlike fraction.

%’ here numerator is greater than the denominator so the

fraction is improper fraction.

I

here numerator is greater than the denominator so the

ol o

fraction is improper fraction.

I

o | o

, here numerator is greater than the denominator so the

fraction is improper fraction.

I

, here numerator is less than the denominator so, the fraction

o | w

—
n

proper fraction.

i
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(e)

(®)

(@

(h)

(a)

(b)

©

(d)

(e)

®

(@

(h)

%’ here numerator is less than the denominator so, the fraction

is proper fraction.

i

§, here numerator is less than the denominator so, the fraction

1s proper fraction.

i

, here numerator i1s less than the denominator so, the

S

fraction is proper fraction.

i

oo

, here numerator i1s less than the denominator so, the

fraction is proper fraction.

i

, here numerator is not 1. So, it is not unit fraction.

Mol ot -3

, here numerator is not 1, so, it is not unit fraction.

, here numerator is 1, so it is unit fraction.

0 |-

, here numerator is not 1, so it is not unit fraction.

o | o

, here numerator is 1, so it is unit fraction.

, here numerator is 1, so it is unit fraction.

R &

x

1—63, here numerator is not 1, so it is not unit fraction.

Y E M

1 . Lo . .
P here numerator is 1, so it is unit fraction.
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11 22 1 33 1 4
6. (3 —+==2,2+==","+===
6 6 66 6 66 6 6
B L.l 44,3 77,3 10
15 15 15 15 15 15 15 15 15
3 1 4 4 1 5 5 1 6
© St—=— b —=— =2
10 10 10°10 10 10°10 10 10
(d) 3 i—i i+i=£,£+i=£
10 10 10710 10 10°10 10 10
5 4 9 9 4 13 13 4 17
e —+—=—, —+— =—
21 21 21721 21 21 21 21 21
8 2 10 10, 2 12 12 2 14
O —+— =

i T — ="
19 19 1919 19 19’ 19 19 19

Exercise 10.4

1. 1x2=g,1x3=§,1x4:i,1x5=i,1x6=£
3x2 6 3x3 9 3x4 12 3x5 15 3x6 18
Ix7 7
3x7 21
1x2_2 1x3_3 1x4_4 1x5_5 1x6_6
O 2T 8 4x3 12 4x4 16 4x5 20 4x6 24
Ix7 17
4x7 28
© 2X2_4 2x3_6 2x4_8 2x5_10 2x6_12
5x2 10 5x3 15 bx4 20 5x5 25 5x6 30
2x7 14
5x7 35
@ 1¥2_2 1x3_ 8 1x4_4 1x5_5 1x6_6
Tx2 14 7Tx3 21 7Tx4 28 7Tx5 35 7Tx6 42
Ix7 17
Tx7 49
9. (@ 1276_2_2 b 327 3x9 21 27
54+6 9 9 8’72 8% 9 72 72
So, equivalent So, equivalent.
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(©

4. (a)

(b)

(©

(d)

5. (a)

(b)

(©

3 12 4 8

s d - -

7 30 5 20

3x4 12 12 12 4x2 8 8 8
= = = = —#__

Tx4 28 28 30 5x2 10 10 20

So, not equivalent So, not equivalent

Since denominator are same so compare the numerator
2<3

2 3
o<l

Since denominator are same so compare the numerator
4<6

4 6
= il
13 13
Since denominator are same so compare the numerator
12> 16
12 16
- ket
31 31
Since denominator are same so compare the numerator
6>5

6 5
J— > J—
7207
Since denominators are same so we compare the numerators
1<3<6<8

So, % is the greatest fraction among.

Since denominators are same so we compare the numerators
2<7<8<9

So, 1—90 is the greatest fraction among.

Since denominators are same so we compare the numerators
1<2<3<4

So, % is the greatest fraction among.
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6. (a)

(b)

(©

(b)

©

8. (a)

(b)

(¢

Since denominators are same so we compare the numerators.
4>3>2>1

1. .
So, - 1s the smallest fraction among.
Since denominators are same so we compare the numerators
9>6>4>3
3. .
So, 1 is the smallest fraction among.
Since denominators are same so we compare the numerators
5>4>3>2

So, % is the smallest fraction among.

Since denominators are same so we compare the numerators
1 <3<5<6

5 6

J— < J—

77

Since denominators are same so we compare the numerators
1<3<4<7

<

So, the ascending order is : % < %

So, the ascending order is : 1 < 3 < 4 < 7
8 8 8 8

Since denominators are same so we compare the numerators

2<3<4<5
4 5

So, the ascending order is : 2 < 3 < 9 < 9

Since denominators are same so we compare the numerators
6>4>2

So, the descending order is : — > — >

©o|l®
NRIN
© |

Since denominators are same so we compare the numerators
6>3>2

So, the descending order is : — > — >

Sl o
SN

3w

Since denominators are same so we compare the numerators
7>5>1
5 1

So, the descending order is : T >—>—
11 11 11
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Exercise 10.5

1.

(@)

(b)

(©

(a)

(b)

Since the numerator are same. So we compare
denominators

8>6>4>3
Here the fraction having the smaller denominator is

greater.

So, % is the greatest fraction among.

Since the numerators are same so we compare
denominators

17>13>11>10
Here the fraction having the smaller denominator is

greater

So, % is the greatest fraction among.

Since the numerators are same. so we compare
denominators

17>13>11>9
Here the fraction having the smaller denominators is

greater

So, gis the greatest fraction among.

Since the numerators are same. So, we compare
denominators

2>11>13>15
Here the fraction having the greater denominators is

smaller.

So, 1—15 is the smallest fraction among.

Since the numerators are same. So, we compare
denominators

12>11>10>7

Here the fraction having the greater denominator is
smaller.

So, 1—22 is the smallest fraction among.

the

the

the

the

the

the

the

the

the

the



C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

(¢

Since the numerators are same. So, we compare the
denominators

7T>6>5>4

Here fraction having the greater denominator is the smaller.

So, %is the smallest fraction among.

3. (a) Since the numerators are same we compare the denominators

(b)

(©

(@)

(b)

10>9>8>2
Here the fraction having the smaller denominators is the
greater
So, the ascending order is : 1 < 1 < 1 < 1
10 9 8 2
Since the numerators are same so, we compare the
denominators
15>13>9>2
Here the fraction having the smaller denominators is the
greater so the ascending order is : 2 < 2 < 2 < 2
15 13 9 2

Since the numerators are same. so, we compare the
denominators

10>7>5>4
Here the fraction having the smaller denominators is the
greater so the ascending order 1is : 3 < 3 < 3 < 3
10 7 5 4

Since the numerators are same so we compare the

denominators
2<7<8<9
Here the fraction having the smaller denominators is greater
So the descending order is : 1 > 1 > 1 > 1
2 7 8 9

Since the numerators are same. So we compare the
denominators

3<7<5<9

Here the descending order is : — >

ISIRN

2
>=>
5

w | bo
© | o
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(c) Since the numerators are same So, we compare the
denominators.

4<5<7<9
Here fraction having the greater denominator is the smaller

So, the descending order is : 3 > g > % > g

Exercise 10.6

1. (a) Since the denominators are same

So, we add the numerators directly
1,1 _1+1_2

3 3 3 3
(b) Since the denominators are same

So, we add the numerators directly
1.2 1+2 3

5 5 5 5

(¢) Since the denominators are same

So, we add the numerators directly
5,2_5+2_7
9 9 9 9

(d) Since the denominators are same

So, we add the numerators directly
2 3 243 5
4+ = -
6 6 6 6

(e) Since the denominators are same

So, we add the numerators directly
1,3 1+3_ 4
10 10 10 10

(f) Since the denominators are same

So, we add the numerators directly
2 3 2+3 5
4+ = ——
77 7 7

2. (a) Since denominators are same

So, we subtract the numerators directly
4 2 _4-2_2

77 7 7
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(b) Since denominators are same

So, we subtract the numerators directly
5_2_5-2_3
9 9 9 9

(¢) Since denominators are same

So, we subtract the numerators directly
7 5 _7-5_2 1

8 8 8 8 4
(d) Since denominatore are same
So, we subtract the numerators directly
7.5 _7-5_2 1
10 10 10 10 5
(e) Since denominators are same
So, we subtract the numerators directly
8 3 8-6 2 1
0 6 10 6

6 3
(f) Since denominators are same

So, we subtract the numerators directly
8 6 _8-6_2 1

10 10 10 10 5
Exercise 10.7

1. The part of match was over = g

Total match =1 (let)
3 5-3
The part of match was left =1 — 5 = e

= % or two-fifth match was left

2. School work done on Monday = %
School work done on Tuesday = %
Total school work done in two days = g + % = 3; 2_ g



C.B.R.MODERN SR.SEC.SCHOOL BAHALA REWARI 3RD CLASS MATH SOLUTIONS

3. Marbles lost on Saturday = %

Marbles lost on Sunday = %

Total marbles lost in two days = 1 + 2 = 1+2 = 3 = 1
6 6 6 6 2
4. Sammy read part in first day = é
. 3
Sammy read part in second day = S
Total part read in two days=l+§= 1+ 3=é=l
8 8 8 8 2
5. Farmer reaped crop on first day = g
4
Farmer reaped crop on second day = 9
Total part of crop reaped in two days = 3 + 4 = 3+4 = 7
9 9 9 9
Check Yourself
1. () Numerator =5 (b) Fraction =§
Denominator = 12 So, Numerator = 3
So, fraction = 1—52 Denominator = 8
. 9 . 6
(c) Fraction =— (d) Fraction=—
11 11
So, Numerator = 9 So, Numerator = 6
Denominator = 11 Denominator = 11
(e) Fraction = é So, Numerator = 1

Denominator = 12
1. 5 .
2. (a) - is less than o so the statement is false.

(b) % of 30 means é x 30 =15 so the statement is true.
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(¢) Two-ninths is % So the statement is false.

(d) Like fractions have the same denominator. So the statement is
true.

(e) % of 15 = % x 15 = 3, so the statement is false.

3. () Lof55=Lx55=11 B Lof10=1x10=5
5 5 2 2
So, (iii) So, (iv)
(¢) Four-seventh = % (d) Nine-seventeenth = 1—97
So, (i) So, (i1)

4. (a) Total cans bought = 5
He drank cans = 2

So, the fraction of can she drank =§

So, (1) is the correct option.
(b) Ketan got mark = 8
Total marks of the test was =10

So the fraction of marks scored by ketan = 1—80

So, (iv) is the correct option.
(c) Total chocolates =7
Amy ate of them =5

So, the fraction of chocolates eaten by Amy = %

So, (i1) is the correct option.

11. Measurement

Exercise 11.1
1. Do yourself

Exercise 11.2
1. @ -+ 1m=100cm
6m=6x100cm = 600 cm
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(b) + 1m=100cm
14 m =14 %100 cm = 1400 cm
(¢)  1m=100cm
11m=11x100cm = 1100 cm
(d v+ 1m=100cm
15 m=15%x100cm = 1500 cm
(e) + 1m=100cm
25 m =25x100cm = 2500 cm
® -+ 1m=100cm
16 m =16x100 cm = 1600 cm
2. (8 + 1m=100cm
8 m=8x%x100cm = 800 cm
(b) + 1m=100cm
6m3cm=6x100+3cm =603 cm
(¢ v 1m=100cm
12m 50 cm =12x 100+ 50 cm = 1250 cm
(d  1m=100cm
Tm15cm="7x100+15cm =715 cm
(e) ~+ 1m=100cm
2ml12cm=2x100+12cm = 212cm
® - 1m=100cm
8m15cm=8x100+15cm = 815¢cm

Exercise 11.3

1. @ ~+ 1m=10dm () v 1m=10dm
4m=4x10dm s 6m=6x10dm
=40dm =60 dm
(¢ v 1m=10dm (d + 1m=10dm
3m2dm=3x10+2dm L 9m7dm=9%x10+ 7dm
=32dm =97dm
() + 1m=10dm ® + 1m=10dm
8m=8x10dm & 4m3dm=4%x10+3dm
=80 dm =43 dm
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(g

2. (a)

(b)

(©

(d)

(e)

(®)

(@

(b)

1m=10dm
Tmbdm=7x10+5dm
=75dm
ldm:im
10
27
27dm="—m=27"m=2m 7 dm
10
ldmzim
10
39dm:§m:3.9m:3m9dm
10
1dm=im
10
31
3ldm=—"m=31m=3m1dm
10
ldm:im
10
54dm=%m=5.4m=5m4dm
10
ldmzim
10
20dm:@m:2m
10
1dm=im
10
86dm=%m=8.6m=8m6dm
10
ldm:im
10
42
42dm=—m=42m=4m 2 dm
10
ldmzim
10
91

91dm="m=91m=9m 1dm
10

1m=10dm
3m2dm=3x10+2dm

=32dm
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Exercise 11.4

1. (a lcmzl—lodrn ) = 1lcm=10dm
40
4OCm:1—Odm:4m 6 cm=6x10=60dm
(c) - 1cm=$dm (d) 1ecm=10dm
70
7OCm=1—O=7dm 20 m = 28 x 10 =280 dm
2. (a) 1dm=10dm

2dm 6cm=2x10+ 6cm = 26cm
(b) v 1dm=10dm

8dm4cm=8x10+4cm=84cm
() v 1dm=10dm

5dm 7ecm=5%x10+ 7cm =57 cm
(d v 1dm=10cm
10dm 14 ecm=10x10+14=114cm
1m=10dm

2m4dm=2x10+4dm=24dm
(b) ~ 1m=10dm
8m4dm=8x10+4=84dm
() v 1m=10dm
S 9m5dm=9%x10+5=95dm
(d + 1m=10dm
15dm 9dm =15%x10+ 9= 59 dm

Exercise 11.5

m km km m

1L @ 392 v %%, © %37 %%
293 349 287 185

+ 418 + 87 + 53 290
813 T 603 702 351
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km

© 723
+ 11

m

300
499

712

301

km

m
© @ 9

92

X &

o Ot

5564 490

m cm

() 4) 168 80 (42 20

-16
8
-8

Y

m cm km
2. @ 3135 m 4, 990
-18 19 - 26 197
66 29 ~71 288
km m cm
3. @ ® G %
x 8 % 5
1320 912 30
m km
4. (a) 9) 819 (91 (b) 6) 366 (61
1 36}
9 6
-9 -6
X X
=91m =61km

Exercise 11.6
1. Distance covered by foot =1 km 375 m
By bus = 52 km 425 m
By taxi = 2 km 150 m
Total distance covered

So, Sahil covers 8 km 950 m in total.

2. Boat has to sail = 54 km
It sail on first day = 8 km 248 m
So, distance further to sail.
3. Total length of the rope =159 m 37 cm

Length of the red rope = 65 m 22 cm
Length of black rope = 37 m 25 cm

8
8

Y

0
0
X

=42 m 20 cm

km m

00)
1 375

5 425
+ 2 150
8 950

km m

O ENOOW)
34 000

+8 248
45 752
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Length of yellow rope =159 m 37 cm — (65 m 22 cm + 37 m 25 cm)

m cm m cm
©) &)
65 22 159 37
+37 25 - 102 47
102 47 56 90

So, the length of yellow rope is 56 m 90 cm.

4. Boat sails in a day = 6 km 120 m

It will sail in three days = 6 km 120 m x 3
So, the boat will sail 18 km 360 m in 3 days.

5. Cloth use for one shirt =1 m 40 cm

Cloth needed for two shirts =1 m 40 cm x 2

So, 2 m 80 cm cloth would be required for two shirts.

Exercise 11.7

1. (2

(b)

(©

(d)

(b)

1 kg =1000 gm

6 kg = 6x 1000 gm = 6000 gm

1 kg =1000 gm

2 kg 780 g =2x 1000+ 780 = 2780 gm

1 kg =1000 gm

3 kg 435 gm = 3x 1000 + 435 gm = 3435 gm

1 kg =1000 gm

4 kg 678 gm =4x 1000+ 678 gm = 4678 gm
1

~ 1000

5000
5000 g=——kg=5k
g 1000 g .

lg kg

1
1000

1008
1008 g=——kg=1.008kg=1 kg 8
8 1000 g g go8g

lg kg

km

18

120
x 3
360

cm
40
X 2
80
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(©

(d)

3. (a)

(©

4. (a)

5.

(b)

©

(d)

(b)

©

1
1000

7870
7870 g = ——kg="7.870kg = 7kg 870
8 1000 g 8 8 g

lg kg

1
1000

5645
5645 g = —— kg = 5.645 kg = 5 kg 645
g 1000 g g g g

lg kg

1 1
=——%k b) ~ lg=——
1000 g ®) & 1000

1000 2000
1000 g=——kg=1k s 2000 g=——
g 1000 g 8 g 1000

lg kg

kg =2kg

1 1
=——%k d) v 1lg=—+—
1000 g @ 8 1000

32000 7000
32000 g=——kg=32k s 7000 g=——kg="7k
g 1000 g g & 1000 & g

lg kg

1 kg=1000g

3 kg 3x 1000 kg = 3000 kg

1 kg=1000g

8 kg =8x1000g=28000g
1kg=1000g

37 kg =37x1000g =37000g
1 kg=1000¢g

93 kg =93 x 1000 g = 93000 g

(a) We know that 1000 gram make 1 kg.
So, 1000 — 400 g =600 g

So, 600 g more required to make 1 kg
We know that 1000 gram make 1 kg
So, 1000 — 640 g=360g

So, 360 g more required to make 1 kg
We know that 1000 gram make 1 kg
So, 1000 — 700 g = 300 g

So, 300 g more required to make 1 kg
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(d) We know that 100 gram make 1 kg
So, 1000 —-60g=940¢g
So, 940 g more required to make 1 kg

Exercise 11.8

kg
©00)
2247

16
+ 989

1. (a

3252

g
943

- 777

2. (a)

166

kg

979

x 8

3. (a)

7832

Exercise 11.9

1. Weight of white paint = 3kg 500 g
Weight of red paint =15 kg 200 g

Combined weight

So, the combined weight of paint is 18 kg 700 g.

2. Rohan’s weight = 22 kg 300 g

Shalini’s weight is 2 kg 100 g more than Rohan.

kg g kg g
(b) O O0® (¢ 00 O®
7 649 1487 645
12 126 432 345
+132 96 28 27
151 871 + 6 19
1954 036
kg g kg g
Q2
75 485 90 687
- 36 279 - 71 298
39 206 19 389
kg
OO® ©) ©©)
® 55354 © ¥, Yo7
X 6 X 4
7404 216 508
kg g
3 500
+ 15 200
18 700
kg ¢
22 300
+2 100
24 400

So, Shalini’s weight = 24 kg
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kg g
® O
3. Van carries soap = 66 kg 66 000
It delivers soap = 4 kg 500 g -4 500
So, the soap left in the van M
kg g
4. Merchant bought number of bags of cotton = 9 35 200
Each bag weight = 35 kg 200 g X9
So, the total weight of the bags = 316 kg 800 g. 316 800
g
@
5. Weight of a chocolate bar = 75 grams 75
Weight of a gift pack of 3 chocolate bars = 75 gram x 3 3
225
So, the weight of a gift pack of 3 chocolate bars = 225 g.
6. Wheat is distribute among = 5 persons 5) 25330 (5066
Total weight of wheat to be distributed —25
=25kg 330 g 33
—30,,_
30
-30

So, each person will get 5 kg 66 g wheat. X

Exercise 11.10
1. (a) + 171=1000 ml
275 ml=2x1000+ 5ml=2005ml

Which is not equal to 205 ml
So,

1
=—— ml
1000
1009 ml = 1999 112 1.009ml =179 ml
1000

So,

() -+ 1ml
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©

(e)

(®

2. (a)

(b)

(©

3. (a)

(b)

17=1000 ml
2105=2x1000+5ml=2005ml=2075 ml
Which is not equal to 21 [ 5 ml

So,

I1ml=_ L~ g
1000
7075 ml = 070 | = 7.075 1= 7175 ml
1000

Which is not equal to 70 [ 25 ml
So,

I1ml=_ L~ 7
1000

6052 ml = 2992 | 6.052 = 6152 ml
1000

So,

17=1000 ml
s 3160 ml=3x1000+ 60 ml=3060ml
So,
17=1000 ml
21750 ml = 2x 1000+ 750 ml = 2750 ml
17=1000ml
17110 ml=1x1000+110ml =1110 ml
17=1000 ml
41320 ml =4x1000+ 320 ml = 4320 ml
17=1000 ml
51=5x1000+ 350 ml=5350ml

Iml=_ L g

~ 1000
7392 ml = 292 _ 7392 1= 71392 ml
10001
1000

9999 ml = 9999
1000

1 ml

1=9.9991=97999 ml
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(©

4. (a)

(b)

(©

(d) .

1
1000

8830 ml = 8830
1000

1ml l

[=8.8307=817830 ml

I1ml= Lt 7
1000

9007ml=yl=9.007l=9l7m1

000
17=1000ml

172ml=1x1000+ 2ml=1002 ml
17=1000ml

21140 ml = 2x 1000 + 140 ml = 2140 ml
17=1000 ml

51740 ml =5x%x1000+ 40 ml = 5040 ml
17=1000 ml

71356 ml=7x1000+ 356 ml = 7356 ml

Exercise 11.11

1. (a

2. (a)

3. (a)

l ml [ ml [ ml
00 OO OO0 OO o0 00
87 873 (b) 123 456 () 23 381
+4 78 + 789 654 14 227
92 951 913 110 +36 498

74 106
[ ml l ml [ ml

OB GU® () ® @ © ®

96 436 456 390 3 000
—18 1769 - 123 970 — 987

77 687 332 920 2 013

] l ml [ ml
@ ©)

4321 b) 79 133 © 9 249
X 92 X 4 X 3
8642 288 492 6 726
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Exercise 11.12 [ ml
. ©
1. Capacity of bucket = 9/ 9 (000
Water in the bucket = 4 [ 300 ml -4 300
So, water can be poured. 4 700
Thus 4 [ 700 ml more water can be poured into the bucket
l ml
. ©)
2. Yellow paint =1/ 500 ml 1 300
Brown paint = 500 ml - 500
So the paint was required to paint the room. 2 000
Thus 2 [ paint was required to paint the room. ) ml
. . ©
3. Mrs Patil made juice = 27 100 ml 2 100

Her children drank = 600 ml - 600
So, the juice left 1 500
Thus 1/ 500 ml Juice was left.
4. Cow gives milk at a time = 20/ 500 ml
The calf drinks =17 300 ml
Milk wasted by milk man = 900 ml
So, the milk left with the milkman
=2017500 ml (17300 ml + 900 ml)

[ ml [ ml
® ®©O
1 300 20 500
+ 900 -2 200
2 200 18 300

So, 18 1 300 ml milk is left with the milkman.

Check Yourself

1. (a) The basic units of length are metre and centimetre.
So, Length is measured in metre and centimetre.
(b) The basic unit of measuring weight is kilogram.

So, A bag of wheat is measured in kilogram.
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(0

(d)

2. (a)

(b)

(©

(d)

(b)
(©

(d)

The basic units of weight are gram and kilogram.

So, we measure weight in kilogram and gram.
lcm= i m
100

500cm=@m=5m
100

We know that 1 metre = 100 centimetre

So, the statement is False.
17=1000 ml
21750 ml = 2x 1000+ 750 ml
= 2750 ml
So, the statement is False.
1kg=1000g
6kg 775 g=6x1000+ 775 ¢g
=6775¢
So, 8775

— 6775
2000

So, the statement is True.

400 g + 600 g =1000 g

We know that 1000 g =1kg

So, the statement is True.

The capacities of water bottles are generally of /.
So, (ii) is the correct option.

The capacities of bottles of nail polish are generally of 15 ml.
So, (i) is the correct option.

The cap of bottle of the syrup is labelled in ml.
So, (i) is the correct option.
The milk in a cup can be measured in m/ only.

So, (ii) is the correct option.
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12. Geometry

Exercise 12.1

1. (2

(b)

©

(d)

(e

The cone has two surfaces, one edge and one vertex.

So,

The cube has six faces, all of equal size and it has 12 edges and
8 vertices.

So, (Cone],

The cylinder have no vertices but 2 edges and enlongated
shape with three faces.

So,

The cuboid have six faces but not of equal size and it has 8
vertices.

So, (Cuboid],[ 8 ]
Our Earth looks like a sphere.

So

2. Do yourself

A There are three line segments in the given

figure.
AB, BC,CA
C B

(b) G F There are four line segments in the given
figure.
D E GF,FE,ED, DG
(¢c) D C  There are four line segments in the given
figure.
A B DC,CD,BA, AD
A B

F <:> Cc There are six line segments in the given
figure.

AB,BC,CD,DE, EF, FA
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(e)

P_Q There are six line segments in the given

ul s figure.
. s PQ,QR,RS,ST,TU,UP

A
" B E There are five line segments in the given
figure.
C D

(@)

(b)

©

5. and

10.

11.

(a)
(b)
(©
(d)

(e)

and

AB, BC,CD, DE, EA.
Horizontal line is one which runs left to right.
So, the line is horizontal line.

A slant line is one which is straight but lean slant towards
another direction.

So, the line is slant line.

A curved line is one which is not straight, vertical and slant
line.

So, the line is curved line.

6. Do yourself
DC and AB are horizontal lines in the given figure.
AD and BC are the vertical lines in the given figure.
BD and AC are the oblique lines in the given figure.

AC intersect BD on O, so O is the point of intersection of lines
AC and BD.

AB intersect BC on B, so B is the point of intesection of lines
AB and BC.

9. Do yourself

Only (a) and (c) because only these have the equidistant lines from
each other at every point lie on them.

(a) DC and AB are parallel lines in the given figure.

(b)

PQ, SR and TU are parallel lines in the given figure.

(c) DE, BC and FG are parallel lines in the given figure.

Exercise 12.2

1.

()
(b)

The shape of stamp is similar to square.

The shape of a ¥ 10 is similar to circle.

gl
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(¢) The shape of a page in our book is similar to rectangle.
(d) The shape of the face of a full moon is similar to circle.

(e) The shape of the set square in a geometry box is similar to
triangle.

2. (a)
A So, there are 5 triangles in the given figure.

[N/

10
12 11 So, there are 13 triangles in the given figure.

(b)

© %Y
A@A So, there are 8 triangles in the given figure.

3. (a) }
3 So, there are 3 rectangles in the given figure.
2
(b) A
6{ 2 %5 So, there are 6 rectangles in the given figure.
7
| —
(©) 1 2
5[ }6 So, there are 9 rectangles in the given
3 4 figure.
| IS
8

4. and 5. Do yourself
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Exercise 12.3

1. (a) The dotted line does not divide the given figure into two hales.
So, the dotted line is not the line of symmetry.

So,
(b) The dotted line divides the given figure into two halves.
So, the dotted line is the line of symmetry.
So,
(c) The dotted line the given figure into two halves.
So, the dotted line is the line of symmetry.

So,

(d) The dotted line does not divide the given figure into two
halves.

So, the dotted line is not the line of symmetry.
So,

(e) The dotted line divides the given figure into two halves.
So, the dotted line is the line of symmetry.
So,

(f) The dotted line divides the given figure into two halves.
So, the dotted line is the line of symmetry.
So,

2. and 3. Do yourself

Check Yourself

1. (a) Each face of a cube is a square.
(b) A sphere has only one curved face with no vertex and no edge.
(c) Opposite faces of a cuboid are equal in size and shape.
(d) Match box is an example of a cuboid shape.
2. (a) The surface of a ball is a curved surface.
So, the statement is False.
(b) The surface of a blackboard is a flat surface.
So, the statement is False.
(¢) A cuboid has 8 vertices.

So, the statement is False.
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(d)

3. (a)

(b)

(©

(d)

(e)

4. (a)

(b)

©

(d)

(e)

A cube has 6 faces.

So, the statement is True.

Match box is similar to cuboid.

So, (a) — (ii)

Dice is similar to cube.

So, (b)) — (v)

Cone has only one vertex

So, (¢) — (i)

Cylinder has 2 circular edges.

So, (d) — (V)

Sphere has only one face.

So, (e) — (iii)

A cylinder have 2 edges.

So, (iv) is the correct option.

All are 3 dimensional figure except circle.
So, (i) is the correct option.

A cylinder has 2 circular and 1 curved surface.
So, (1) is the correct option.

A triangle has 3 line segments.

So, (ii1) is the correct option.

There are 12 vertices in the given figure.

So, (ii1) is the correct option.
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